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Question Number : 1 Question Id : 7773932503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

X7D, V11G, T13J,  ,PI9P
Options :

1. ® QI5SM

2. ¥ R17TM

3. % Q17L

4. % R15M

Question Number : 1 Question Id : 7773932503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad e & g ug 1d Sifog |

X7D, V11G, T13J,  ,PI9P
Options :

1. ¥ QI5SM

2. ¥ R17TM

3. % QI7L

4. % RISM

Question Number : 2 Question Id : 7773932504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

deb, ijg, nol, ?, xyv
Options :

1. ¥ stq

2. ® 15p

3. * 13q

4. % stp

Question Number : 2 Question Id : 7773932504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad e & g ug 31 i |

deb, ijg, nol, ?, xyv
Options :

1. ¥ stq

2. % 1sp

3. % rsq



4. % stp

Question Number : 3 Question Id : 7773932505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

A,LLP,V,AE,?
Options :
l.*F

2.% G

3. H

4. % 1

Question Number : 3 Question Id : 7773932505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG &1 99 Dy, Sl FREfeiRad gaer o ST S|

A,LLP,V,AE,?
Options :
l1.* F

2.% G

3.9 H

4. %1

Question Number : 4 Question Id : 7773932506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series.

EAI GDM, IGQ, KJV
Options :



1. ¥ KJV
2. % GDM
3. % IGQ
4. % EAI

Question Number : 4 Question Id : 7773932506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad e & 7ad ue 31d difora?

EAIL, GDM, 1GQ, KJV
Options :

1. ¥ KJV

2. % GDM

3. % 1GQ

4. % EAI

Question Number : 5 Question Id : 7773932507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Constituent Assembly : Constitution : : Parliament : ?
Options :

1. ¢ Statute

2. % President

3. % Speaker

4. % Prime Minister

Question Number : 5 Question Id : 7773932507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fadh ey T 99 B 1 iR UG 9 I41 ae ¥ Tfid & fo UoR g¥R1 U Ugd Ug I Iwifed g |

Sfaer TuT: Jfay™ :; 99g : 2
Options :

1. ¥ BT

2. % Jgufd

3. % Wi

4. % gy T

Question Number : 6 Question Id : 7773932508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

LERI: PJVN :: MONT : ?
Options :

1. ¥ WRTY

2. ¥ QTRY

3. % RITY

4. ¥ RQYB

Question Number : 6 Question Id : 7773932508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot gy o, fdu 7 fawedl & @ i siarl &1 997 &< |
LERI: PJVN :: MONT : ?

Options :

1. ¥ WRTY

2. ¥ QTRY

3. # RITY

4. % RQYB



Question Number : 7 Question Id : 7773932509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

ZXVT : ACEG :: SQOM : ?
Options :

1. ¥ FHIL

2. % HILN

3. % JLMO

4. * IKMO

Question Number : 7 Question Id : 7773932509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered uy #, fdu 7 fasedl § Q Hefdd ofari &1 98- &1 |
ZXVT : ACEG :: SQOM : ?

Options :

1. # FHIL

2. ¥ HILN

3. % JLMO

4. % IKMO

Question Number : 8 Question Id : 7773932510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives?

MAN : PDQ :: WAN :
Options :
1. * YDQ



2. % NAW
3. ¥ ZDQ
4. % YQD

Question Number : 8 Question Id : 7773932510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

41 wara 7, fau gu fawedl & 9, d6fia siert &1 g

MAN : PDQ :: WAN :
Options :

1. ¥ YDQ

2. % NAW

3.¥ ZDQ

4. ¥ YQD

Question Number : 9 Question Id : 7773932511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code language, ETERNITY is written as KETZXTIK then which word would be written as GRBINNIS?
Options :

1. ¥ ABSOLVED

2. ¥ ABRADING

3. % ABRASIVE

4. % ACCEDING

Question Number : 9 Question Id : 7773932511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T A ®Is UM H, ETERNITY &1 KETZXTIK & U H forar ST 8 @ &4 91 e GRBINNIS & =0 H forar sme
Options :

1. % ABSOLVED




2. ¥ ABRADING
3. ¥ ABRASIVE
4. % ACCEDING

Question Number : 10 Question Id : 7773932512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If DOUBLE = 177 and RELATION = 282, then MATRIMONIAL =
Options :

1. % 298

2. % 201

3. ¥ 375

4. % 420

Question Number : 10 Question Id : 7773932512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& DOUBLE = 177 3R RELATION = 282 §, & MATRIMONIAL =
Options :

1. % 298

2. % 201

3.9 375

4. % 420

Question Number : 11 Question Id : 7773932513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as?
Options :

1. ¥ ETAROELECT

2. ¥ EARTOTCELE

3. ¥ ETAROTCELE



4. % ETAROCTELE

Question Number : 11 Question Id : 7773932513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf¢ EARTHQUAKE &I EKAUQHTRAE & ¥U H ®eag [l 9IdT §, Y ELECTORATE &1 4 Hed [l SITE?
Options :

1. ¥ ETAROELECT

2. % EARTOTCELE

3. ¥ ETAROTCELE

4. % ETAROCTELE

Question Number : 12 Question Id : 7773932514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “DECIDE” is coded as “EFDJEF” in a certain language, then how will “NOTIFY” be coded in the same language?
Options :

1. ®* OPSHEZ

2. ¥ OPUJGZ

3. ¥ OPUHEZ

4. % OPSIGZ

Question Number : 12 Question Id : 7773932514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft Ff8d e U &, “DECIDE” %1 “EFDIJEF” & ¥4 # fora ST 7, dl 38 e U &, “NOTIFY” &) fohd TR ferar simem?
Options :

1. ®* OPSHEZ

2. ¥ OPUIGZ

3. # OPUHEZ

4. % OPSJGZ



Question Number : 13 Question Id : 7773932515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Weight of B is twice that of C. Weight of C is 1/3 that of D. Weight of D is 4 times that of F. Weight of F is 1/3 that of E. The weight of C is
greater than the weight of how many persons among B, D, E and F?

Options :
1. %3
2. %2
3.¢ 1
4. %0

Question Number : 13 Question Id : 7773932515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BHI TG CHIERAT S| C HI IO D H o BT 1/3 81 D BT IO F & ao- BT 4 AT ¢ | F BT o E & a9 &1 1/3 81 C BTG B, D, E,
3R FH ¥ fobdq cafgaal @ oo 9 31 ]

Options :
1. %3
2.% 2
3.¢ 1
4. %0

Question Number : 14 Question Id : 7773932516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six peoples — P, Q, R, S, T and U sit around a circular table not necessarily in the same order. R sits in between P and T. Q sits in between S and
U. Who sits opposite R?

Options :
1. %S
2.%Q
3.% U



4. % T

Question Number : 14 Question Id : 7773932516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEAMGIP, Q, R, S, T 3R U U% JAIHR A9l & IRI 3R 96 &, SRl -Tel [ SH HHA B R, PAR TH A I3 g1 Q, S IR U B S |
Jod1 8| R & fqoid HH 93T 82

Options :
l.* S
2.9 Q
3.% U
4. % T

Question Number : 15 Question Id : 7773932517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 47 cars in a row. A black car is 18 from the right end and a white car is 39 from the right end. How many cars are there between these
black and white cars?

Options :
1. % 21
2.9 20
3.% 19
4. % 18

Question Number : 15 Question Id : 7773932517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggﬁrﬁwﬁ%l TP DIl PR IWBR Y 18 9 3R Th Yhe HR SN IR I 39 3 R W g1 7 BTt 3R Jhe BRI &b §ig bt
9

Options :

)

2. ¢ 20




3. % 19
4. % 18

Question Number : 16 Question Id : 7773932518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons P, Q, R, S, T and U were seated in a straight row facing the north. R was 3rd to the left of T. S was to the immediate right of U. U
was at a gap of 2 from P. P was neighbouring Q. T was not neighbouring S. Who was to the immediate left of P?

Options :
1.*T
2.%Q
3.¥R
4. % S

Question Number : 16 Question Id : 7773932518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JEAMGIP, Q, R, S, T 3R U ITR HI 3R T b Uh N dfad H IS VIR, TP TRA SR A TR WM R UTI S, U & 316 il 3R T
U, P Y2 F AaId W UTI P, Q HTUSI UTI T, S BT USRI a1 T, P & 31 arff 3R & U1

Options :

1.* T

2.%Q

3.% R

4. % S

Question Number : 17 Question Id : 7773932519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan and Shyam are brothers. Shyam has two sons and a daughter. Ramya is the mother of Rohan. Gourav is the husband of Ramya. Dolly is
the sister of Dinesh who is the son of Shyam. How is Dolly related to Gourav?

Options :
1. * Father



2. % Daughter
3. #® Grandfather
4. ¥ Grand-daughter

Question Number : 17 Question Id : 7773932519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN 3R T UTS § | T & &l T 3R T T g | I, g &1 Al g1 7TRd, 01 &1 Ufd 8| Sieh, e &t 98 &, S {6 WH S1 g 5|
SNEARITCEGUIR CORS

Options :

1. % fOr

2. %

3. % QIgr A
4.« Tl

Question Number : 18 Question Id : 7773932520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

I. All black are blue.

II. No white is black.

III. Some green are black.

Conclusions:
I. All white being green is a possibility.
II. All white can never be blue.

Options :
1. ¥ If only conclusion I follows.
2. % If only conclusion II follows.

3. % Ifeither conclusion I or conclusion II follows.



4. % If neither conclusion I nor conclusion II follows.

Question Number : 18 Question Id : 7773932520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few o uy & 9 Sy fer e § e a1 &) e 1 3R 11 fRu U B 1 3ues) AT U Syl Y I AT |, Y 8 3 IrHad: 91

I & 1Y faerv v 8| it e & ug SfR iR dg &% o AT 71U ot & @ &1 o1 feend 3T 70 i @ arfdhes 0 I SRR
BRI B, TTHII: JTd a9} D1 SagaT Hdl ol

HY:

L gt o, i B

1. 18 e, BT el g
L $S 8, A

APy
1. g+ ghg & X 8 B YU B
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Options :

1. ¢ Tf Had Fps 1 3FERU el 5 |

2. % g Hhad (BN 11 SR IRl G|

3. % g aral Fpy 1 a1 FhY 11 SRR HRaT B |
4. % giE A a1 Fpd 17 81 el 11 SFERU R g |

Question Number : 19 Question Id : 7773932521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In question below, three statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:

Some people are buyers.
No buyer is market.

Some markets are not malls.



Conclusions:
I. All markets being people is a possibility.
II. No market is people.

Options :

1. # If only conclusion I follows.

2. # If only conclusions II follows

3. % Ifeither conclusion I or II follows.
4. # If both conclusion I and II follow.

Question Number : 19 Question Id : 7773932521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I few Uy & &9 sy feu T § e w1 < s 1 3R 11 R U § 1 S T TN Sy b I AT |, WA 8 d IrHad: I
I & 1Y faero v 81 it e & ug ofR iR dg &% o 3T 71U woi & § o1 o1 feend 3T 10 =i @ arfdhes 0 I SRR
BRI B, TTHII: JTd a1 D1 SagaT Hdl ol

HY:

PO AN TSR B

Pls VRIGR S6R 51 &
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B
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1. B SR AN T8l B

Options :

1. ¢ ¢ had s [ 3IER0 HRT ¢ |
2. % g Had BT 11 SIR0I Bl &
3. % gfe AT al FpY 197 11 3FER0I HRAT ¢ |
4. % g F5HY 1 SR 11 THT SRT AR 5 |

Question Number : 20 Question Id : 7773932522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the question below, two statements are given followed by two conclusions numbered I and II. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follow(s) from the given statements, disregarding the commonly known facts.

Statements:
All fashionable are addicts.
All addicts are noteworthy.

Conclusions:
I. No noteworthy is fashionable.
II. Some noteworthy are fashionable.

Options :

1. # If only conclusion I follows.

2. % If only conclusions II follows.

3. % Ifeither conclusion I or II follows.

4. % If both conclusion I and II follow.

Question Number : 20 Question Id : 7773932522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fro feu Uy 7 @ vy fAu 7 B S a1 &) fsep 1 8fR 11 AT U €1 3uep! fou T8 =t &1 g A1 &, Hd &1 ITHId: 1d a
& 1Y faero v 8 | it el & U SfR fiiR ag &% foh AU 71U woi & @ & a1 feend 3T 70 i O aifches 0 I SRR akal
8, IHTId: J1d a3l Bt S{ag e Bl g

HY:

gt hyed TS B

Tt TS ST | |

e

1. B3 IR Dgfll:ldd TR B
II. $F I@GHT B ¢ |
Options :

1. % TS Pad Fpy | 3R BT 3|
2. ¢ Tf Hae w11 TR IRAT S




3. % gfg a1l fFAspy 1 97 11 SRR T g |
4. % g Frspy 1 SR 11 TFT SIRRUT AR & |
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In the question given below, two statements are given. There may or may not be cause and effect relationship between the two statements. Mark
your answer using this

Statement [: Ahmed is a healthy boy.
Statement I1: His mother is very particular about the food he eats.

Options :

1. ® Statement I is the cause and statement II is the effect.
2. ¥ Statement II is the cause and statement I is the effect.
3. # Both the statements are independent causes.

4. ® Both the statements are independent effects.

Question Number : 21 Question Id : 7773932523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iﬁ%ﬁ@ﬁﬁnmu&rﬁ,a‘raﬁwﬁqw%laﬁﬁa?uﬂ‘ré?aﬁ%rwaﬁwuﬁwﬁaas‘rlﬂﬂw% 3R el Ht | 376 ITANT HP U~ IR Bl

HYT1: TS Th WRI TSI 5|

HYT I1: ITD! Al 3P GRT WY S aTad HIoH & IR H 9gd & ol gl
Options :

1. # I HYF 1 HRUI B 3R HYF 1 YU B

2. ¢ TS HYF 11 HRUT G 3R HYF [ UHI |

3. % g GFI HYF 1 3R 11 Wi HRUTR |

4. % gfe S HYT 1 3R 11 T UHTE g |

Question Number : 22 Question Id : 7773932524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, a statement is followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted.
You have to consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement.

Statement: Double your money in five months-An advertisement.
Assumption I: The assurance is not genuine.
Assumption II: People want their money to grow.



Options :

1. ® If only assumption I is implicit.

2. ¥ If only assumption II is implicit.

3. # Ifneither I nor II assumption is implicit.

4. ® Ifboth I and II assumptions are implicit.

Question Number : 22 Question Id : 7773932524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM UY &, U U7 & 91 1 3R 11 BT &l YR & 71 ¢ | Dls ATYRUN 98 §1d & o I1 <l A foran S & 1 e 811 3Maeh! i
T HYAT 3R FEfoiRad sraurunsii iR faeR &R 98 T0 &1 811 {6 HY | i I} SaeRon Hy= H 3r: fAfgd g

HY: U He A H S0=T 91 SR H3-Ueh faqmo |
SYRTT I: SATYT IRATASH el g

S[AYTRUI I1: AT I8 & 1 IThT U &¢ |
Options :

1. % gfe Had AFYRM [ 3r: g B

2. ¢ e Had TYROT 11 3=<: FAfga g

3. % gfe T Al 1 3R A8 11 3rauron 3f: FAfgd B
4. % gfe 1 3R 11 GHY YR 3r<: Afgd B

Question Number : 23 Question Id : 7773932525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

6,13,28,?, 122
Options :

1.¥ 59

2. % 48

3. % 63

4. % 72



Question Number : 23 Question Id : 7773932525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fdemedl O § qud A1 BT 994 B |

6, 13,28, 7,122
Options :

1. ¥ 59

2. % 48

3. % 63

4. % 72

Question Number : 24 Question Id : 7773932526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related number from the given alternatives.

51:67::81:130::42:7
Options :
1. ® 76
2. ¥ 46
3. % 56
4. % 62

Question Number : 24 Question Id : 7773932526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fomedl | W Sefed T &1 g &1 |
51:67::81:130::42:7?
Options :

1. = 76



2. ¥ 46
3. % 56
4. % 62

Question Number : 25 Question Id : 7773932527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is coded as 't', B is coded as 'x', C is coded as '+' and D is coded as '-', then, Find the value of 18A6B2C16B4D21?
Options :

1.¥0

2. % 1

3.% 2

4. % -]

Question Number : 25 Question Id : 7773932527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A DI+ & TUH DS fHATT@E, BH '« & TUH HISd [BAT @R, C B '+ & U H Hifsd AT g IR D &1 ' & Tu H
PHifsd far STaT 8, A 18A6B2C16B4D21 &1 HIF J1d B2

Options :

1.¥0

2. % 1]

3.% 2

4. % _|

Question Number : 26 Question Id : 7773932528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.



16 [14 [19
18 |16 |21
324 | 256 | 2

Options :
1. % 521
2. % 434
3.9 441
4. % 651

Question Number : 26 Question Id : 7773932528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 113 ufaferarstt & § faqw T I &

16 [14 |19
18 [16 |21
324|256 | 2

Options :
1. % 521
2. % 434
3.9 441
4. % 651

Question Number : 27 Question Id : 7773932529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following interchange of signs would make the equation correct?

5+3x8-12+4=3
Options :



1.¥ —and ~
2. % +and x
3. % +and +
4. % +and -

Question Number : 27 Question Id : 7773932529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 3 fob fagl &1 o & seam I IHiieur 98 81 Sue?

5+3%x8-12+4=3
Options :

1.¥ —and ~

2. #% +and x

3. % +and +

4. % +and -

Question Number : 28 Question Id : 7773932530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the Venn diagram which best illustrates the three given classes in each of the following questions.

Vegetables, Potato, Cabbage
Options :

O



« —0

r O

Question Number : 28 Question Id : 7773932530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 37 3R BT I B ol (9 H I TP U | feT T i 971t & S8R 3180 &l <xiiar gl
afesrat, 3mre, Mt

Options :

O

1. #



Question Number : 29 Question Id : 7773932531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following figure, square represents doctors, triangle represents artists, circle represents weight — lifters and rectangle represent Russians.

Which set of letters represents Russians who are not doctors?

Options :



1. ® EF
2. % HB
3. ®# GE
4. ¥ DG

Question Number : 29 Question Id : 7773932531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad siefa §, ovf STaext &1 ufafRfia ol 8, Bys saeR) &1 ufafifia $ra1 8, 30 HRIRIa® &1 Ufafiia BT g 3R 3mad
SR &1 gl HRar g

3R] BT I 1 THG FRIA! BT WA Bl § Sl SIaex -Tol 8?2

A I C
\
E|lH
\.._____//
D F

B
Options :
1. % EF
2. % HB
3. % GE
4. ¥ DG

Question Number : 30 Question Id : 7773932532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Input device, keyboard, program



Options :

aw

O

O

0

Question Number : 30 Question Id : 7773932532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3RT BT I B3 ol feT T a1t 7 Ifyd day <iar |
$Yc f&arzy, Piats, TR

Options :



1P,

2.9 ©O
O

3. % OO
==

Question Number : 31 Question Id : 7773932533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If each circle represents a class of objects/ideas written below then find out the answer figure which illustrates better the relationship among
them:

“Sweet, Salty, Sea water”
Options :



Question Number : 31 Question Id : 7773932533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Jd® g d QU U axgafl/faart o T a7 o1 Ufafifeia T 3 i 98 SR 3M1dhid J1d B il 340 dig 8 Ifrd dey g=ifu|
“HIaT, TP, TG BT -

Options :

1. #



O

e )

Question Number : 32 Question Id : 7773932534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Vegetable, Park, Potato
Options :

&
o




©
3. O

OO0

O
4. &

Question Number : 32 Question Id : 7773932534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3Mpfa o1 gRE S i fow e af & o Gey &) 9ad SR g2t B
sall, OTeh, 3Te].

Options :

3.¢¥ O




OO

Question Number : 33 Question Id : 7773932535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hemant walked some distance towards north. He then took a left turn and walked double the distance towards his left. Now, he took a right turn
and walked half the distance. Finally, he moved 10m to his north. In order to get back to his initial position along the shortest distance, in which
direction he must move now?

Options :

1. # North-west
2. % South

3. % South-west
4. ¥ South-East

Question Number : 33 Question Id : 7773932535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gHd IR AR BT 3R U $© g3 d Ial| 3T dIE a8 a1 3R ST 3R 30 T 3R SR gl 9 | 379, T8 1 3R T3T 3R
%ﬂﬁgﬁ&%mw%ﬁ 98 310 Ik [T B 3R 10 Hiex Tl e{qﬁmF%@ﬂ:ruwa@r@ﬁzﬁgﬁﬁmenﬁ%WﬁGﬁW
de-l ?

Options :

1. % JaR-uigw
2. % Sfem

3. % Gfaur-ufgy
4. ¥ Tlemgd

Question Number : 34 Question Id : 7773932536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that will come next in the following series.

[T N

[ |
Options :

Question Number : 34 Question Id : 7773932536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I STpicl DT TG DX Sl (AR el H SR ST |

EE EEE
= ?

[ | [
Options :

B

Question Number : 35 Question Id : 7773932537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the odd figure out of the given series.

| Il
| /A
)

&

Question Number : 35 Question Id : 7773932537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&S YEan ¥ ¥ fawd siapfa &1 |

Options :




3

2. % /A\
&
e

Question Number : 36 Question Id : 7773932538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

‘J I s _I_ .

i
L]




Options :

L ® +
2 % +
3¢ +
LT

Question Number : 36 Question Id : 7773932538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad Saar & SrTelt 3 aTdl! 3did &1 aa |

‘J 'lf s _I_ .

A B C D
Options :

L
.




X +
2 +
3@ +
LT

Question Number : 37 Question Id : 7773932539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of the cube are shown below. What will come opposite to the face containing "2"?

2 3 5
4 |3 : |* 6 |!
Options :
1. %3

2. %4



3.%5
4.9 6

Question Number : 37 Question Id : 7773932539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu Mo T Y A Rufaat g2 718 31 waw 2 & faudia @ s

Options :
1. %3
2. % 4
3.%5
4. ¥ 6

Question Number : 38 Question Id : 7773932540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are present in the given figure?

Options :
1. % 12
2.9 10



3% 11
4. % 14

Question Number : 38 Question Id : 7773932540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@S o H foran Byl IufRd &2

Options :
1. % 12
2.¥10
3. % 11
4. % 14

Question Number : 39 Question Id : 7773932541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the figure which symmetrically completes the pattern of the question figure?

Question figure:

)
3




Options :

5
N
IS

L,

Question Number : 39 Question Id : 7773932541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3BT B UgaH B SNl Aford U ° U= 3BT & U Pl QRT et 8?2

)
3

Options :




A

S
S
v

Question Number : 40 Question Id : 7773932542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following will be the mirror image of the given question figure, if a mirror is placed along the line MN.

CAT

Options :



1¥2 %
1. #
g 1D
2. ®
g cvlL
3.
L
vl £
4, ®

Question Number : 40 Question Id : 7773932542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gYUT T MN QT TR W1 Il &, af 1 U= 3l &t guur 3fa e & @ &1 3t grfe

CAT

Options :



1¥3 g
1. ®
g -]
2. %
g cvl
3. ¢
cvl g-*
4. ®
General Awarenessl1
Group Number : 3
Group Id : 77739332
Group Maximum Duration : 0
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Group Marks : 20
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General Awarenessl

Section Id : 777393105
Section Number : 1
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Mandatory or Optional : Mandatory
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393124
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7773932543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mosques is known as the 'Masjid-i-Jahanuma'?
Options :

1. * Haji Ali Dargah

2. * Moti Masjid

3. ¥ Jama Masjid

4. % Mecca Masjid

Question Number : 41 Question Id : 7773932543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 8 3 foa afkere & Hikee-T-SgigaT & =18 J ST offdl 82
Options :

1. % IOl 3fcll GG

2. % A ARG

3. S ARSI




4. % Oadh] ARG

Question Number : 42 Question Id : 7773932544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the Kamakhya Temple situated?
Options :

1. % Kolkata

2. ¥ Guwabhati

3. % Mumbai

4. * Lucknow

Question Number : 42 Question Id : 7773932544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS HieR Pl U &2

Options :

1. % hddpdl

Question Number : 43 Question Id : 7773932545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a stringed instrument?
Options :

1. ¥ Tambura

2. % Pakhvaj

3. ¥ Mridangam

4. % Khol



Question Number : 43 Question Id : 7773932545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed # ¥ $H 91 U IR a1en ar 82
Options :

1. & d&RT

2. #® Jy@dnsf

3. % g

4. % B

Question Number : 44 Question Id : 7773932546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is Ottam Thullal, a popular dance?
Options :

1. # Karnataka

2. % Tamil Nadu

3. # Andhra Pradesh

4. ¥ Kerala

Question Number : 44 Question Id : 7773932546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & @ frg Tsu & g Yood T Al g T 82
Options :

1. % PP

2. % A Arg

3. % YU

4. A



Question Number : 45 Question Id : 7773932547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places is the Matsya Festival held in India?
Options :

1. # Surat

2. % Nagpur

3. % Alwar

4. # Hyderabad

Question Number : 45 Question Id : 7773932547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR # Fafiad 7 ¥ fog M R 4o Aeica AT forar Srar 82
Options :

1. % Jqd

2. % AqNYR

3. ¢ 3{dd}

4. % FREG

Question Number : 46 Question Id : 7773932548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many digits are there in the MICR code?
Options :

1. % 6

2.9

3. % 11

4. % 12

Question Number : 46 Question Id : 7773932548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
THITSHSHR I H fasaT T giell g2
Options :

1. %6

2.9

3.% 11

4. % 12

Question Number : 47 Question Id : 7773932549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following is the Ayushman Bharat related to?
Options :

1. % Skill development

2. ¥ Health insurance

3. * Farming subsidies

4. % Trrigation facilities

Question Number : 47 Question Id : 7773932549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 frad SIgsH WRd Iafid 82
Options :

1. % DI fabry

2. ¢ WY |

3. % Wdl H gieel

4, % RS o g

Question Number : 48 Question Id : 7773932550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the role of a collateral?



Options :

1. # Guarantee to the borrower
2. % Liability to the borrower
3. ¥ Guarantee to the lender

4. % Liability to the lender

Question Number : 48 Question Id : 7773932550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS BUNYR P YfFepT o1 72
Options :

1. % HUlaR B TR

2. % DHYIGR DI ¢TI

3. ¢ JYRET I TR

4. % JYRGTAI DI &I

Question Number : 49 Question Id : 7773932551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was MGNREGA passed?
Options :

1. % 2004

2. % 2005

3. % 2006

4. % 2007

Question Number : 49 Question Id : 7773932551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SHfAfTT fore ae uiia geim

Options :



1. * 2004
2.9 2005
3. % 2006
4. % 2007

Question Number : 50 Question Id : 7773932552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YONO is an unique feature of which of the following banks?
Options :

1. # Yes Bank

2. # Kotak Mahindra Bank

3. ¢ State Bank Of India

4. # Punjab National Bank

Question Number : 50 Question Id : 7773932552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 Frafafed & 9 foy d &1 1 or1dl glaur g2
Options :

1. % g9 dF

2. % Plch Afeal &

3. ¥ T I 3T 3

4. % USS A 9

Question Number : 51 Question Id : 7773932553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements is oxidised in the process of anodising?
Options :

1. # Zinc



2. % Aluminium
3. % Lead
4. ¥ Mercury

Question Number : 51 Question Id : 7773932553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et | Fafeifad o @ 199 dw o sifafierd fobar o 82
Options :

1. % Sl

2. ¢ JgHIHTH

3. % ol

4, % URT

Question Number : 52 Question Id : 7773932554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following releases hydrochloric acid used in digestion?
Options :

1. # Liver

2. ¥ QGastric glands

3. % Oesophagus

4. % Pancreas

Question Number : 52 Question Id : 7773932554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O S B Fafiead 3 3§ forads gRI gegiaaiNG 3 9Ua 5id 67

Options :

1. % gpd
2. ¢ TR Uil




3. % YRYHT
4, % AT

Question Number : 53 Question Id : 7773932555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a p-block element?
Options :

1. ¥ Boron

2. # Lithium

3. #® Sodium

4. % Francium

Question Number : 53 Question Id : 7773932555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed & § 1 ue p-sle dd 82
Options :

1. v IR

2. % feifmy

3. % Hifggw

4. % RN

Question Number : 54 Question Id : 7773932556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the molecular mass of Butane?
Options :

1. % 44

2. % 52

3. ¥ 58



4. % 62

Question Number : 54 Question Id : 7773932556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S BT 3] UR foha1 22

Options :

1. % 44

2. % 52

3.9 58

4., % 62

Question Number : 55 Question Id : 7773932557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following multiply very slowly?
Options :

1. * Virus

2. * Bacteria

3. * Fungi

4. ¥ Worms

Question Number : 55 Question Id : 7773932557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed @ 3 forge e de Tfa & gt g2
Options :

1. # dIIRY

2. % qacifa

3. % hddh

4. ¥ DY



Question Number : 56 Question Id : 7773932558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following valleys is a deep valley with very steep to straight sides and is almost equal in width at its top as well as its bottom?
Options :

1. ¥ Gorge

2. % Canyon

3. % V-shaped valley

4. % Rift Valley

Question Number : 56 Question Id : 7773932558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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o

Options :

1. ¥ TSl

2. % B4

3. % V-3ThR Yt

4. % RR Y

Question Number : 57 Question Id : 7773932559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following clouds are formed at high altitudes of 8000-12000 m?
Options :

1. ¥ Cirrus

2. % Cumulus

3. % Stratus

4. ¥ Nimbus



Question Number : 57 Question Id : 7773932559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o ¥ SIY 89 &1 A3 8000-12000 Hex $1 391 W BHd 82
Options :

1. ¥ U&TY Ay

2. % HURIOY

3. % ¥R A9

4. % guf AY

Question Number : 58 Question Id : 7773932560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By what amount is the Indian Standard Time ahead of the Greenwich Mean Time?
Options :

1. # 2 hours 30 minutes

2. % 4 hours

3. % 5 hours 30 minutes

4. % 7 hours

Question Number : 58 Question Id : 7773932560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AHS J0Y, FHfad 710 90 ¥ {1 31 g2
Options :

1. % 29¢ 30 e

2. % 4%¢

3. 54¢ 30 e

4. % 74

Question Number : 59 Question Id : 7773932561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the rivers originate from a hill and flow in all directions, what is the drainage pattern called?
Options :

1. # Dendritic

2. # Trellis

3. % Radial

4. # Centripetal

Question Number : 59 Question Id : 7773932561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI At et udd I Frraems quft fammell o s 8, O 39 Ufau o) o el SfaT 8
Options :

1. #® J&lPRR

2. % STl

3. v &g

4. % 3l

Question Number : 60 Question Id : 7773932562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whom out of the following did Harshavardhana succeed?
Options :

1. ¥ Rajyavardhana

2. % Pulakesin II

3. ® Prabhakarvardhana

4. % Shiladitya

Question Number : 60 Question Id : 7773932562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gY¥ad 3 Pofifad & A frad a1e Rigrd ygu fan

Options :
1. ¥ saadq

2. % QeheH fgdia
3. % JHTHIaY
4. % RRrefe
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Question Number : 61 Question Id : 7773932563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Sher Shah Suri defeat Humayun and took over the Mughal empire?
Options :

1. % 1525

2. % 1532

3.9 1540

4. % 1548

Question Number : 61 Question Id : 7773932563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e H §ARY A TR M8 G B! WRIRSTd B T THTE STRI faram
Options :

1. = 1525

2. % 1532

3.9 1540

4. % 1548

Question Number : 62 Question Id : 7773932564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the Sultanate rule how many dynasties had ruled over Delhi?
Options :

1.¥5

2.% 6

3.% 7

4. % 8

Question Number : 62 Question Id : 7773932564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e d Bra H faeei! W fbda Iea=i = = faar ur
Options :

1.¥5

2. % 6

3.% 7

4, % 8

Question Number : 63 Question Id : 7773932565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the Revolt of 1857, from where did Bakht Khan fight against the British?
Options :

1. * Oudh

2. % Delhi

3. * Gwalior

4. % Jhansi

Question Number : 63 Question Id : 7773932565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 & fagIg & SRM, s WH A 3G & f¥aTs Fal J dsrs aof i
Options :

1. % 3dY

2. ¢ facedl

3. % IR

4. % =R

Question Number : 64 Question Id : 7773932566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Where is Vikram Sarabhai Space Centre situated?
Options :

1. ¥ Thiruvananthapuram

2. # Sriharikota

3. % Kochi

4. ¥ Bengaluru

Question Number : 64 Question Id : 7773932566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fashH IRIHTS SidRe bg ol U g2
Options :

1. ¢ fopa-aqzy

2. % digRepler

3. % Bl

4. % TS

Question Number : 65 Question Id : 7773932567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Samsung launched an Al powered robot at 2019 Consumer Eletronic Show held at Las Vegas. What is the name of it?
Options :

1. % Sophia

2. % Kodomo

3. ¥ Ballie

4. # LifeBot

Question Number : 65 Question Id : 7773932567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT A T T H ST 2019 HogiR Saaei-ad U1 H TSMTE - UTds JaIe dl-d T | 3HHBT T4 &1 82

A




Options :

1. % Qiftear
2. % Pl
3. ¢ Scl

4. % ASHEIC

Question Number : 66 Question Id : 7773932568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Emmanuel Macron is the president of which of the following countries?
Options :

1. # Spain

2. % France

3. % UK

4. # Ivory Coast

Question Number : 66 Question Id : 7773932568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THud A Pl o 3 fora 3= & pufa &9
Options :

1. % U

2. ¥ B

3. % g

4. % IR B

Question Number : 67 Question Id : 7773932569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of "The Great Indian Novel"?
Options :



1. # Ramchandra Guha
2. ¥ Shashi Tharoor

3. % Arvind Adiga

4. ¥ Khushwant Singh

Question Number : 67 Question Id : 7773932569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
< Uc &7 1ad & AWH HH &2
Options :

1. % Mg TET

2. ¢ TR YT

3. ® 3Rfa= 3ifeT

4. % Qgurad Rig

Question Number : 68 Question Id : 7773932570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is 107th Indian Science Congress held?
Options :

1. % Delhi

2. % Hyderabad

3. ¥ Bengaluru

4. ¥ Mumbai

Question Number : 68 Question Id : 7773932570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
107d YR faFT HIUH BT SIS B! SAIHSTd fobar 71T U1

Options :

1. % fdoat




Question Number : 69 Question Id : 7773932571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to National Crime Records Bureau (NCRB) 2018 report, which of the following states topped the list of maximum crime cases?
Options :

1. ¥ Uttar Pradesh

2. % West Bengal

3. # Rajasthan

4. ¥ Maharashtra

Question Number : 69 Question Id : 7773932571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS SRy RpS SRY 2018 Bt RUIE & SR, FAfied & 9 &F 91 379 S STy AHd! &f 9di § 969 SR 67
Options :

1. ¥ IR U

2. % OfYH §I

3. % SR

4. ® HgRIY

Question Number : 70 Question Id : 7773932572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India’s Polar Satellite Launch Vehicle in its 50th flight, launched RISAT-2BR 1. What is its mission life?
Options :

1. % 2 years

2. ® 3years



3. % 5 years
4. % 8 years

Question Number : 70 Question Id : 7773932572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & L ea.ua dl. 3 3u-t 50 ot IsH H, Re-2dt 3R, 1 &1 vHI=H frar| 39 e &1 Sitad fam g2
Options :

1. %29y

2. % 399

3.4 579

4. % 39y

Question Number : 71 Question Id : 7773932573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Niti Aayog had published SDG Index in December 2019. Which state topped the list?
Options :

1. # Mabharashtra

2. ¥ Kerala

3. ¥ Himachal Pradesh

4. # Karnataka

Question Number : 71 Question Id : 7773932573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fifer SmanT = fediaR 2019 & ad [9eT d&d (TSToN) Yadhic USRI foar o7 | fhe Iod 3 39 gt & =i ®ir U fasar
Options :

1. % HERIY

2. ¥ IR

3. % U/ U™



4. % PHAlcHh

Question Number : 72 Question Id : 7773932574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Evidence of the world's oldest forest, has been discovered in an abandoned quarry of which country?
Options :

1. ¥ USA

2. % Germany

3. % Australia

4. # India

Question Number : 72 Question Id : 7773932574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & TR R SHTE BT 9167, e 3= Bt uRcgad A § @il T 8
Options :

1. ¢ AT

2. % S

3. # 3fieferan

4, % HRd

Question Number : 73 Question Id : 7773932575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the maximum strength of the Lok Sabha envisaged by the Constitution?
Options :

1. # 530

2. % 538

3. % 546

4, ¥ 552



Question Number : 73 Question Id : 7773932575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iU H I s TH & Gawl D1 SMfUDdH S 1 62
Options :

1. % 530

2. % 538

3. % 546

4, 552

Question Number : 74 Question Id : 7773932576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following schedules of the Indian Constitution contains the powers, authority and responsibilities of Municipalities?
Options :

1. # Ninth

2. # Tenth

3. # Eleventh

4. ¥ Twelfth

Question Number : 74 Question Id : 7773932576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7 & yrRda I3y &) by Srgge # TRuIfereTel Bt wifdar, iR 3R Rderiar wfire
Options :

1. % 9dt

2. % gHdl

3. % YRl

4.+ 9Rgdl



Question Number : 75 Question Id : 7773932577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following writs is issued when the court finds that a particular office holder is not doing legal duty and thereby is infringing on the
right of an individual?

Options :

1. # Certiorari

2. ®% Habeas Corpus
3. # Quo Warranto
4. ¥ Mandamus

Question Number : 75 Question Id : 7773932577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o O Re a9 SR &1 Sl § 99 <A1a7ed &) TIdT § &1 Bl Jlasli-id UeiidRT 30 B! 3R a4 gl o
TTe -Te) R 38T § 3R 399 it sufa o1 Aifeier iR gHifd 8 k@12

Options :

1. % Iy ke

2. % §dl THEHRT
3. % JHfYDR gwdT
4. ¢ GRATCE

Question Number : 76 Question Id : 7773932578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is entitled for a casting vote in the Rajya Sabha?
Options :

1. ¥ Rajya Sabha Chairman

2. # Prime Minister

3. # Leader of Opposition

4. # President of India



Question Number : 76 Question Id : 7773932578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 ford IrsaguT 7 dic STeH &1 SHfYaR 82
Options :

1. ¢ [STGHT & JHTATA

2. ® Uy HAl

3. % fRIG g & A

4. % YRd & AFUfd

Question Number : 77 Question Id : 7773932579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been named as the Leading Woman Cricketer in the World in 2019 by the Wisden Almanack?
Options :

1. ¥ Ellyse Perry

2. % Meg Lanning

3. # Suzie Bates

4. # Alyssa Healy

Question Number : 77 Question Id : 7773932579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS T gR1 2019 # fay H <fifE Afgan fbdper & Tu & f5a iftd fear mar g2
Options :

1. v T O

2. % T AR

3. % ol 9y

4. % Qferan gl

Question Number : 78 Question Id : 7773932580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following teams has been declared I-League Champions for the 2019-20 season?
Options :

1. # East Bengal

2. % Mohun Bagan

3. ¥ Real Kashmir

4. # Chennai City

Question Number : 78 Question Id : 7773932580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019-20 T3 & fore Faferiad & 9 food < & o - <ifuds ey fasan mar g2
Options :

1. ® gdf §ma

2. ¢ Higd IHTH

3. % ROAd HR

4. % 995 {4

Question Number : 79 Question Id : 7773932581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teams does Megan Schutt play for?
Options :

1. % England

2. % Australia

3. # South Africa

4. % New Zealand

Question Number : 79 Question Id : 7773932581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafaRed & 4 & I 1 & fore v e It 82
Options :

1. % 38

2. ¢ S{Ifer

3. % CI&MU 3Mhleh

4. % Tgollds

Question Number : 80 Question Id : 7773932582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Broncos' Von Miller is associated with which of the following games?
Options :

1. # Basketball

2. ¥ American Football

3. % Baseball

4. % Tennis

Question Number : 80 Question Id : 7773932582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S i fieR Faffed o ¥ fra @ 9 dafid g2
Options :

1. % SRbCdld

2. ¢ 3R Pedld

3. % gdld

4. % ¢frg

Arithmetic Abilityl

Group Number : 5
Group Id : 77739334



Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 81 Question Id : 7773932583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three wheels can complete 36, 24 and 48 revolutions per minutes. There is a red spot on each wheel that touches the ground simultaneously at 8

Arithmetic Abilityl

777393107
1

Online
Mandatory
20

20

20

Yes

1
777393126
Yes

a.m. After how much time, all these spots will simultaneously touch the ground again?

Options :

1. % 12 second

2. ¥ 5 seconds

3. % 12 minutes

4. * 5 minutes



Question Number : 81 Question Id : 7773932583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ufed ufd firme o 36, 24 3R 48 TFR N B IHd ¢ | TAD UTT R T AT YT § Sl YoIE 8 o1 Uh 1Y STHH B & g | v w0
& §1q, I gt Usd Th 1Y O T S1H Dl Zuo

Options :

1. % 2953
2. ¥ 5THS
3. % 12fie
4. % 5fie

Question Number : 82 Question Id : 7773932584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression by using BODMAS.

Gtatsa) o (5o 1280)

Options :
1. ¥ 208
2. % 200
3. % 16

4. % 256

Question Number : 82 Question Id : 7773932584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfRad THIHRUT & BODMAS &1 SUTNT HRdh TR DIl |

(12803?[ %)EI-TFG et +——1—16)

Options :



1. ¥ 208
2. % 200
3. % 16
4. % 256

Question Number : 83 Question Id : 7773932585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

9=-2X27=9
18+7.5x5+4
Options :
1.¥ 45
2. % 5.7

3. %25
4. % 6.8

29

Question Number : 83 Question Id : 7773932585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad gy o usaree g (2) & R R 31 3T 91 W?

9=-2x27=9
18+-7.5x5=4
Options :
1.¥ 45
2. % 57

3.% 25
4. % 6.8

=9




Question Number : 84 Question Id : 7773932586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 394508x is exactly divisible by 8,then which of the following is the value of x? (Where x is a single digit number)
Options :

1. %3

2.9 8

3.%5

4. % 7

Question Number : 84 Question Id : 7773932586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 394508x, 8 T YUIG: faUTST B, A U A A x FTAF AT 2 (SE1 x TP DI WA 7)
Options :

1. %3

2.9 8

3.%5

4. %7

Question Number : 85 Question Id : 7773932587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplify: i

[ {7y’

Options :

e V27



) % 2

aw V7

Question Number : 85 Question Id : 7773932587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W BT i
[+ -]y’

Options :

Question Number : 86 Question Id : 7773932588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cricketer gives 18.5 runs per wicket. He gives 100 runs and takes 8 wickets in a match. After which his average becomes 18 run per wicket.
How many wickets had been taken by him till the last match?

Options :
1. ® 96



2. % 100
3. ¥ 88
4. % &9

Question Number : 86 Question Id : 7773932588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ta A T froher Ul fadhe 18.5 A AT | 98 U B H 100 I G 8 fadhe A1 € | 3P d16 ISP 31N 18 I Ufdl fadhe ISR & |
I 3oy A9 qe fobaq fagse forg 4 2

Options :

1. % 96

2. % 100

3. ¥ 88

4. % 89

Question Number : 87 Question Id : 7773932589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average earning of each member of the Akash’ family is 50 percent less than the average earning of each member of Shahid’s family and total
earning of Akash’s family is 33.33 percent more than that of Shahid’s family. The number of persons of Shahid’s family is what percent of the
nubmer of persons of Akash’s family?

Options :

1. * 20 percent

2. % 25 percent

3. % 37.5 percent
4. % 33.33 percent

Question Number : 87 Question Id : 7773932589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHT & YRR & TS Y& B Hd 31 e & URAR & TS Tewd 1 3id 311 I 50 UfA=Id HH § TUT ATHI & YRR &
H AT MeE P URAR b1 Hd T 33.33 U= 34w § | e & TRAR & V&, BT & IRAR & | BT fda-T Uid=Id 82




Options :

1. % 20 gfard

2. % 25 gfard

3. ¢ 37.5 Ufawd
4. % 3333 Ufderd

Question Number : 88 Question Id : 7773932590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 8 persons in a committee is increased by 2 years when two men aged 35 years and 45 years are substituted by two women.
The average age of these two women is:

Options :

1. % 52 years
2. % 56 years
3. % 50 years
4. ¥ 48 years

Question Number : 88 Question Id : 7773932590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IiAfd & 8 fdaal o 3id Mg 2 oy 9¢ St 8 O1d 35 I8 3R 45 I8 @Y 31 & &1 GSu B1 o Afgarsil gR1 ufawifid fear smar g
Options :

1. % 529y

2. % 56TY

3. % 50y

4.4 439

Question Number : 89 Question Id : 7773932591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper purchased a flower pot for Rs. 1200. He marked the flower pot 30 percent above its cost price. He later gives two successive



discounts of 10 percent and 12 percent to a customer. He also charges an extra 5 percent on the bill amount from the customers after calculating
the discount. At what price approximately (in Rs.) the flower pot is sold?

Options :
1. * 1285
2. % 1264
3. % 1379
4. ¥ 1297

Question Number : 89 Question Id : 7773932591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gHMER A 1200 30 T UTh BalaH BRIGT | 3G BagH ol U+ dFTd G ¥ 30 Ufa=id $ifees sifard fhar| 9 o1 & te UTedh hl
10 TR 3R 12 UFI=RId &1 & ¥ B odl ¢ | 98 e P T & ale T I fod R TR 5 Wia=rd SHfafvad i o 8 | amy g
Wﬂwmﬁﬁ)wﬁémwig?

Options :
1. % 1285
2. % 1264
3. % 1379
4. 1297

Question Number : 90 Question Id : 7773932592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cricketer whose bowling average is 24.85 runs per wicket takes 5 wickets for 52 runs and thereby decreases his average by 0.85. The number
of wickets taken by him till the last match was :

Options :
1. * 64
2. % 72
3. ¥ 80
4. % 96

Question Number : 90 Question Id : 7773932592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T fopdper fo T TigaTolt 3l d 24.85 39 Ufd fadbe €, 52 TR 5 fddhe Aar g 3R 39 a8 IUDT 319 0.85 T HH 81 ST 8| ifaq 79
d I g1 fe1g 7Y faahel bt T 4t

Options :

1. % 64

2. % 72

3.¢ 80

4. % 96

Question Number : 91 Question Id : 7773932593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The quantity of water that should be added to reduce 9 ml lotion containing 50 percent alcohol to a lotion containing 30 percent alcohol is:
Options :

1. % 3ml

2. % 4ml

3. % 5ml

4.+ 6 ml

Question Number : 91 Question Id : 7773932593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o firciiciier M & 50 Ufawrd 3ichied & | 390 fam urt firemar S f& 30 ufawrd siewigd aral @R & SA?
Options :

1. % 3 e,

2. % 4o,

3. % 5o,

4. v 6 THa.

Question Number : 92 Question Id : 7773932594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A reduction of 21 percent in the price of an item enables a person to buys 3 kg more for Rs. 100. The reduced price of item per kg is:
Options :

1. % Rs.5.50

2. % Rs. 7.50

3. ¥ Rs. 10.50

4. ¥ Rs. 7.00

Question Number : 92 Question Id : 7773932594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh T%] 1 BIHd H 21 U D1 DHI B b DRUI, Teb ek 100 FUA H 3 fobert 31fees @ie Urell g | Uifel fobil ag 1 Ul g8 B1vid &
Options :

1. % 550 300

2. % 75030

3. % 10.50 30

4. 7.00 30

Question Number : 93 Question Id : 7773932595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The salaries of P, Q and R are in the ratio 5:3:2.If the increments of 20 percent, 10 percent and 20 percent are allowed in their salaries, then what
will be the new ratio of their salaries?

Options :

1. % 20:11:8
2. % 20:11:15
3. % 20:11:12
4. % 20:11:10

Question Number : 93 Question Id : 7773932595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P, Q 3R R 1 dd SHHTL: 5 : 3 : 2 % UId H g1 TG Ifab a1 H 20 Uf=Id, 10 YT SR 20 Ufi=rd o1 gfg o1 el 8, dl 37 I Bl
T 3{UTd &1 gITI?

Options :

1.9 20:11:8

2. % 20:11:15

3. % 20:11:12

4, % 20:11:10

Question Number : 94 Question Id : 7773932596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rekha sells a DVD player to Liza at a profit of 15 percent and Liza sells it Megha at a profit of 25 percent. If Megha pays Rs. 2,875 for it, then
find the cost price (in Rs.) for Rekha.

Options :

1. % 1,500
2. % 1,800
3.9 2,000
4. % 1,900

Question Number : 94 Question Id : 7773932596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I, ST b1 T DVD AR 15 UTa=Id dTH UR Sct g 9UT diell 39 A9l o1 25 Ufa=d a1 IR S o | afe Aer 39 o 2,875 U &1
YA HRT 8, 3T BT T JI (FUT H) F1d Piford |

Options :

1. % 1,500

2. % 1,800

3.+ 2,000

4. % 1,900

Question Number : 95 Question Id : 7773932597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A trader sells two brands of petrol; one is Ordinary unleaded (OU) and other one is Super unleaded (SU). He mixes 12 liters of SU with 3 liters
of OU and by selling this mixture at the price of SU he gets the profit of 9.09 percent. If the price of SU be Rs. 48 per liter, then the price of OU
is:

Options :

1. # Rs. 38 per litre
2. # Rs. 42 per litre
3. ¥ Rs. 28 per litre
4. # Rs. 35 per litre

Question Number : 95 Question Id : 7773932597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AMURI & 518 H1 USId sadl g, T YR G IRd (0U) 3R GERT JUR FHT IR (SU) | ST SU & 12 TR Bl OU & 3 T
ﬁfiﬁﬁ%ﬂgﬁgﬁw%n@méﬂﬁﬁsﬁgwmmwwm%l gfe SU &1 g 48 FUY Tfd Tiex & df AU W I (0U)
dI HU®:

Options :

1. % 38 30T Ufd offex
2. % 42 307 gfd dfiex
3. ¢ 28 B30T Yfd dlex
4. % 35309 Ufd dex

Question Number : 96 Question Id : 7773932598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sells a cell phone for a profit of 10 percent. If he had purchased for 25 percent less and sold it for Rs. 60 more over the actual selling
price, he would have gained 50 percent. What is the cost price, at which he bought the cell phone?

Options :

1. % Rs. 1820
2. % Rs. 2000
3. ¥ Rs. 2100
4. ¥ Rs. 2400



Question Number : 96 Question Id : 7773932598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP MURT 10 U= & T IR UH Id BIF oadl ¢ | Jie 39 39 25 Ta=id & & WRIaT 81T 3R 39 aRdiae [oehd Jod ¥ 60 39
31y o S BT o I 50 UA=Id BT A1 BiaT| AFTd Hed T 7, o IR 39 I B Wiiar 82

Options :

1. % 1820 309
2. % 2000 TYY
3. % 2100 39Y
4. ¥ 2400 3T

Question Number : 97 Question Id : 7773932599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased 70 calculators at the rate of Rs. 160 each. He spent an amount of Rs. 2000 on transport. He fixed the labeled price of
each calculator at Rs. 280. However, he decided to give a discount of 15 percent on the labeled price. What is the percentage of profit earned by
him?

Options :

1. # 30.46 percent
2. # 22.22 percent
3. % 26.21 percent
4. % 3512 percent

Question Number : 97 Question Id : 7773932599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHIER A 70 HAGACR, TP 160 YT BT & T WIS | I UREEH TR 2000 TUT FI AR T D1 3R YIS dhagarex Bl ffard
e 280 ¥ FiRa fohan| graifes, 3T sifdd &1 18 S W 15 U= Bt G o BT B [T | 3Tb gRT Sifotd a1y Hia=rd o1 82
Options :

1. % 30.46 U=

2. % 2222 Ufa=Id




3.+ 26.21 Ufaed
4. % 35 12 gfaerd

Question Number : 98 Question Id : 7773932600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man has Rs. 480 in the denominations of one-rupee notes, five-rupee notes and ten-rupee notes. The number of notes of each denomination is
equal. What is the total number of notes that he has?

Options :
1. % 45
2. % 60
3.% 75
4. % 90

Question Number : 98 Question Id : 7773932600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fad & U U $UY, U ¥UY, 3R G 39 & Alel & U H 480 IUT § | YIS Hed a1 P AIe] o T aRIeR ¢ | ITP U el Arel
&1 =T fara 82

Options :

1. % 45

2. % 60

3.% 75

4.9 90

Question Number : 99 Question Id : 7773932601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many litres of water should be added to a 30 litre mixture of milk and water containing milk and water in the ratio of 7 : 3 such that the
resultant mixture has 40 percent water in it?

Options :
1. %7



2. %8
3.¢¥5
4.%9

Question Number : 99 Question Id : 7773932601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 : 3 3FUTd & Y 3R U & 30 Tiiex fsor # faram witex gt fremar ST =nfeu orfes afvomt firsior & 40 ufa=ra urt 8) s
Options :

1. %7

2. % 8

3.5

4. % 9

Question Number : 100 Question Id : 7773932602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B started a business with the investments of Rs. 480000 and Rs. 320000 respectively. Both A and B being active partners receive monthly
salaries of Rs. 15000 and Rs. 18000 respectively. After ‘x” months the total profit earned is Rs. 384000 and both the incomes of A and B are
equal. Find the value of x.

Options :
1. % 4
2.% 6
3.8
4. % 12

Question Number : 100 Question Id : 7773932602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B 7 HHTT: 480000 T 3R 320000 TYY FAART & 1Y T SIIUT YR fbaT| A 3R B SH! Afehd HFfieR g 3R I8 A1y aaH
U 15000 TTY 3R 18000 U AT g1 'x' HEIHI & 91 3ifoid Had TH 384000 T § 3R A 3R B GHI &1 31 SRISR & | x BT HH I
HIfoTT|



Options :
1. % 4
2.% 6
3.8
4. % 12
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Question Number : 101 Question Id : 7773932603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prem started a business by investing an amount of Rs. 40000. After four months Raju joined the business and after three more months Raghu
joined the business. At the end of the year they shared the profit earned in the ratio of 1 : 2 : 1. What is the sum of the amounts invested by Raju
and Raghu?

Options :

1. ¥ Rs. 216000
2. % Rs. 190000
3. ¥ Rs. 246000
4. # Rs. 186000

Question Number : 101 Question Id : 7773932603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T = 40000 ¥ B AT IR B Th HGHT YR [hT| IR FH o d1G 9 FadTd H JMAS BT T 3R I i1+ To i b 916 XY
A9 H M 81 7T a8 & 3fd T I8 1:2: 1. % U | SHfSTd a1y o1 1ah fordm| 9] 3R XY gRT Fa=1 &1 115 077 &1 IR o1 82
Options :

1. ¢ 216000 3T

2. ¥ 190000 ¥

3. % 246000 ¥4I

4. % 186000 ¥UY

Question Number : 102 Question Id : 7773932604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of sum invested for 2 years by Sandeep at 10 percent p.a. compounded annually and by Gagandeep at 8 percent simple interest is 1 : 2.
Difference between the interests is Rs. 990. How much was invested by Sandeep?

Options :

1. ¥ Rs. 9000
2. % Rs. 12000
3. # Rs. 11000
4. % Rs. 10000



Question Number : 102 Question Id : 7773932604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 aY & forg Fig gRT 10 Ufa=rd ufd oy Tehgis ST ®1 &R I 9UT THHGY GRT 8 W= SRl 16T 1 &R I Fa=1 1 175 IR HT
SIUTA 1 : 2 § | TSN BT 3R 990 BT & | T4 gRT A 3 et 2t

Options :

1. ¥ 9000 3T
2. % 12000 3T
3. % 11000 T4
4. % 10000 3T

Question Number : 103 Question Id : 7773932605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a sum of money at a certain rate of simple interest per year doubles in 5 years and at a different rate of simple interest per year becomes three
times in 12 years, find the difference in the two rates simple interest per years.

Options :

r
- 2%

Question Number : 103 Question Id : 7773932605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

afe PIS 4= AT AR AT Bt ol Ff3a arfifer o & 5 af & GRT 81 STt § ok WieRor a1t &t fonft s anffer ax @ 12 af A o=
T BT ST 8, <) TR &1 Bt 3 g1 aTfves & 8§ SfaR I diford|
Options :

70,
1. %8 <70

L7

Question Number : 104 Question Id : 7773932606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs 3364 is divided into A and B in such a way that at the end of 5 years the amount of A at the rate of 5 percent per annum of compound interest
becomes equal to the amount of B at the end of 7 years at the rate of 5 percent of compound interest. Find the share of A.

Options :

1. ¥ Rs. 1764
2. % Rs. 1600
3. % Rs. 1765
4. % Rs. 1722

Question Number : 104 Question Id : 7773932606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3364 ST BT A 3R B T 39 UHR dicl 71 fs 5 9 & 3id & Tehgfg STt & 5 UTA=Id s ax T A $I AR, 7 I8 & 3fd H ahgfes o1
& 5 Ufa=Td aTfes &X A B H1 A1 & SRIGR 81 ST § | A BT (381 J1d Piforg |

Options :



1. ¥ 1764 300
2. % 1600 Y
3. % 1765300
4. % 17229090

Question Number : 105 Question Id : 7773932607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money invested at compound interest at a certain rate amounts to Rs. 20000 in 3 years and Rs. 31250 in 5 years. Find the rate percent
per annum and the difference between C.I and S.I on the original sum at the same rate for two years.

Options :

1. % 25 percent, Rs. 840
2. % 25 percent, Rs. 640
3. % 20 percent, Rs. 840
4. % 20 percent, Rs. 640

Question Number : 105 Question Id : 7773932607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ahqfa TS B U M &= I Th AR iR 3 a6 & 20000 T 3R 5 a6 H 31250 S0 81 A ¢ | Uil a8 TS &= 947 391 &= 9 T
R IR &1 I8 & oI Tshgfe SaTSl 3R IR TS & s T 3faR J1d Piford |

Options :

1. % 25 fderd, 840 ®U
2. ¢ 25 UfARId, 640 Y
3. % 20 UfdeId, 840 =0
4. % 20 Ufa=Id, 640 9Y

Question Number : 106 Question Id : 7773932608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two guns were fired from the same place at an interval of 10 minutes and 30 seconds but a person in the train approaching the place hears the
second shot 10 minutes after the first. The speed of the train (in km/hr), supposing that the speed of sound travels at 330 meters per second is :



Options :
1. ® 37.5
2.9 594
3. % 62.5
4. % 875

Question Number : 106 Question Id : 7773932608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& I U@ B A ¥ 10 fAE 30 I8 & SRTA TR TS Sl § b 39 UM i 3R 31135 T ¢ A 098 G I gadt et $
3{TATST Uit el & 3Marst & 10 e a1g GArs <ol 8 af o @t ifd (fpeil/eier 7 ) 31d ifoe afe eaf ot =mdt 330 iex Ui IS ©:
Options :
1. %375
2.¥ 594
3. % 625
4.% 875

Question Number : 107 Question Id : 7773932609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus covers one-third of his journey with 40 km/hr next one-third part of his journey with 60 km/hr and remaining journey with 30 km/hr. Find
the average speed (in km/hr) of the bus.

Options :
1. % 375
2.9 40

3. % 425
4. % 475

Question Number : 107 Question Id : 7773932609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP S 3O AT H1 T [dgT8 U 40 Tt / 6T B 71 I, ST U fgTs U 60 fheit / der &t 71 ¥ 3R =W g3t 30 fhet/ et &t 71



Y TG BT ¢ | 9 D1 3frgd T1fd (fopHl/eer 7 ) J1d piferu|
Options :

1. %375

2. 40

3.% 425

4.% 475

Question Number : 108 Question Id : 7773932610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh covers 1/3rd of a certain distance with 20 km/hr, 1/4th of remaining with 10 km/hr, and the remaining distance with 30 km/hr. Calculate
average speed (in km/hr) of Ramesh during whole journey.

Options :
1. ® 15
2. % 18
3.9 20
4. % 22

Question Number : 108 Question Id : 7773932610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, U A g &1 1/3 YT 20 ftft/ der & 1 9, AW BT 1/4 UFT 10 fHa / a1 3t i 9, SR AW g3t 30 fft/ dear st mfa S o
TR | I I & SR W ) 3 i (Frdieer 7 ) 3ra pifm|

Options :

1. % 15

2. % 18

3.9 20

4. % 2

Question Number : 109 Question Id : 7773932611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If 4 workers can make 42 toys in 6 days, how many toys can 12 workers make in 3 days?
Options :

1. % 7

2. % 252

3. % 28

4.+ 63

Question Number : 109 Question Id : 7773932611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 4 948 6 feT o 42 RIS AR I b ©, A 12 94l 3 faq o b I daR = 9avd 82
Options :

1. %7

2. % 252

3. % 28

4. ¥ 63

Question Number : 110 Question Id : 7773932612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two boys alone or three girls alone can complete a piece of work in 7.5 days. In how many days can 1 girl and one boy together complete the
twice of the work?

Options :

1. # 9 days
2. % 10 days
3. % 12 days
4. ¥ 18 days

Question Number : 110 Question Id : 7773932612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3D &l TS I I asfdrat 7.5 fEAl H FTH R B IB ] | | ASHI 3R Th ASHT Had fovd G & SR 10 R R Ihd /2




Options :

1. % ofeq
2. % 10f&q
3. % 12fem
4. 18faA

Question Number : 111 Question Id : 7773932613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 men and 8 women can complete a work in 10 days. 26 men and 48 women can finish the same work in 2 days. 15 men and 20 women can do
the same work in:

Options :

1. ¥ 4 days
2. % 6 days
3. # 8 days
4. % 7 days

Question Number : 111 Question Id : 7773932613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 T8N 3R 8 ARENT 10 31 H U ST &) T AR Thd § 1 26 T3V 3R 48 AR W HH &1 2 o H W R AHd 81 15 T¥Y 31R 20
Options :

1. ¥ 4fgd

2. % g4

3. % gfad

4. % 7faA 4

Question Number : 112 Question Id : 7773932614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cost of painting the total outside surface of a closed cylinder at Rs. 6 per sq. cm is Rs. 5544. If the height of the cylinder is 2 times the radius,



then find its height.
Options :

1. % 12cm

2. % 10.5cm

3. % 7cm

4. % 14 cm

Question Number : 112 Question Id : 7773932614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH §¢ 90 B Hd dIe3 Tadg B 6 TG Ul a7 I § T &1 AN 5544 T g | AfS 97 Bt SHaTs AT 2 TAT 7, A U1 SHaTg 1d
CAIEIY

Options :

1. % 1299

2. % 10.5 94t

3. % 730

4. 14 T4t

Question Number : 113 Question Id : 7773932615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The base of a right prism is a trapezium. The lengths of the parallel sides are 8 cm and 14 cm and perpendicular distance between the parallel
sides is 8 cm. If the volume of the prism is 1056 cubic cm, then the height of the prism is:

Options :

1. # 44 cm

2. % 16.5cm
3.% 12 cm

4. % 10.56 cm

Question Number : 113 Question Id : 7773932615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH A fUoH BT SMYR THAH TGYS (Trapezium) & | & THHTR Y131 ] THETS HH: 8 T 4T 14 T B T THFRR Y134l & o=
& TEad gal 8 T § | Al 3T A 1056 T I 5, A fIoH &1 $aTs &

Options :

1. % 44 T4

2. % 16.5 AT
3. 1299

4. % 10.56 9!

Question Number : 114 Question Id : 7773932616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of the pyramid on a square base of side 5 cm and height 6 cm is:
Options :

1. % 50 cubic cm

2. % 36 cubic cm

3. % 25 cubic cm

4. % 30 cubic cm

Question Number : 114 Question Id : 7773932616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP THR YR aTel FURTIHS BT T o1 1T oIeTah SR B Yl 5 T, 3R Gdls 6 THL. § 2
Options :

1. ¥ 50 O At

2. % 36 JHI

3. % 259 QA

4. % 30 9 9Hl

Question Number : 115 Question Id : 7773932617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The perimeter of a rhombus is 40 cm. If the length of one of its diagonals be 12 cm, the length of the other diagonal is:
Options :

1. ®* 14 cm

2. % 15cm

3.9 16 cm

4. % 12 cm

Question Number : 115 Question Id : 7773932617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Fragysl &1 aRRfd 40 T B 1fe 39 fawur § 3 U &t 7ars 12 Y &, f 3 fapl 1 TS &

Options :

1. % 1434
2. % 1599
3. ¢ 1694
4. % 1299

Question Number : 116 Question Id : 7773932618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

This question is based on the table given below which represents the percentage growth in the volume of sales of five brands of motorbikes
across the years mentioned.

Name of 1985- | 1990- | 1995- | 2000-
the Bike 1990 1995 2000 2005

Hayabusa 15 20 25 50

TF-910 10 10 20 40
Mag-EV 5 10 20 30
DXTRA 20 10 30 40

AS-X100 20 10 10 S0




The sales of which, motor bike have increased by the highest percentage from 1990 to 2000?
Options :

1. ¥ DXTRA

2. % TF-910

3. % Hayabusa

4. % AS-X100

Question Number : 116 Question Id : 7773932618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Uy =i <1 7T q1ferehT WR S1eTRd §, S Seaiiad aul| | HIexagd & Uid §is! &1 fash! &1 g § ufazd gfa & idr |

agh b | 1985 | 1990- | 1995 | 2000-
aH 1990 1995 2000 2005
Hayabusa 15 20 25 50
TEF-910 10 10 20 40
Mag-EV 5 10 20 30
DXTRA 20 10 30 40
AS-X100 20 10 10 50
o Hic T BI fawht T 1990 F 2000 TP T 31w Ufa=d &t IS 8% 82
Options :
1. % DXTRA
2. % TF-910
3. % Hayabusa
4. % AS-X100

Question Number : 117 Question Id : 7773932619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
This question is based on the table given below which represents the percentage growth in the volume of sales of five brands of motorbikes



across the years mentioned.

Name of 1985- | 1990- | 1995 | 2000-
the Bike 1990 1995 2000 2005
Hayabusa 15 20 25 50
TF-910 10 10 20 40
Mag-EV 5 10 20 30
DXTRA 20 10 30 40
AS-X100 20 10 10 50
If DXTRA has registered a sales of 42,900 in 2000, then what is the difference in its sales for 2005 and its sales in 19907
Options :
1. % 21,400
2. % 30,060
3. % 16,170
4. % 25,440

Question Number : 117 Question Id : 7773932619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gg Uy a1 713 aTferesT WR SUTRA 8, S SeaiiRad au § HieaIgd o Uid e &l foeh! bl T H Uiawid gfg & gxfar g

aghd | 1985 | 1990- | 1995 | 2000-

I 1990 | 1995 | 2000 | 2005
Hayabusa 15 20 25 50
TF-910 10 10 20 40
Mag-EV 5 10 20 30
DXTRA 20 10 30 40
AS-X100 20 10 10 50

IfE DXTRA 9 a4 2000 H 42,900 1 foep! gof 1, ol ¥ 2005 H 3UP! fasht 3R a9 1990 H 3BT fah! & 3R {1 82



Options :

1. % 21,400
2. ¥ 30,060
3. % 16,170
4. % 25440

Question Number : 118 Question Id : 7773932620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Share of Revenue obtained from each type (by capacity) of connection sold by VSNL out of total revenue of VSNL from sales of connections
(For the year 2019)

64 kbps, 28.8°

Total revenue from sale of connections by VSNL in 2019 = Rs. 15 lakhs.
Total number of connections = 10000

If VSNL’s revenues from sales of 1 Mbps connection in 2020 was Rs. 2,20,000, then what is the percentage decrease in the same from 2019 to
20207

Options :
1. ¥ 26.67 percent



2. # 33.33 percent
3. ® 28.56 percent
4. % 23.21 percent

Question Number : 118 Question Id : 7773932620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wa%ﬁ&ﬁ@réﬂwa%wwmﬁzow & foIe) T 9§ dIU9Td gRT o9 U HaRM & Ud® UHR (& & SHTAR) I U
R[oIRg BT

64 tha IO TOH,

28.8°
512 thel TUITH,
43.2°

256 thATUTTH,
38.4°

128 thelTUITH,
33.6°

2019 H JITHTATH §RT HARM DI bl W Hel I = 15 TR TUY

BRI DI Hel H-AT = 10000

Tfe 2020 # 1 THAUTT Haw F1 ot T FTITATS BT IS 2,20,000 TUT @, @1 3TH 2019 F 2020 H ufa=rd & 182
Options :

1. ¢ 26.67 Ufa=Id

2. % 3333 gfa=rd

3. % 2856 Ula=Id

4. % 2321 gfa=d




Question Number : 119 Question Id : 7773932621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Share of Revenue obtained from each type (by capacity) of connection sold by VSNL out of total revenue of VSNL from sales of connections
(For the year 2019)

64 kbps, 28.8°

Total revenue from sale of connections by VSNL in 2019 = Rs. 15 lakhs.
Total number of connections = 10000

What is the approximate ratio of the revenues from 256 Kbps connection to that of a 128 Kbps connection, in 2019?
Options :

1. % 5:6

2. % 11:13

3. % 9.7

4. v 8.7

Question Number : 119 Question Id : 7773932621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Wmﬁﬁm%ﬁwmﬁzow & fore) ¥ ¥ UEAUd gRT 9 T H-aRM o JdD UBHR (& & SIER) I UK
oI BT

64 tRATUITH,

28.8°
512 thalTUITH,
43.2°

256 tha 4TI g,

38.4°

128 thelTdITH,
33.6°

2019 T GTHTATA §RT BRI B} foh! A Ha 6T = 15 ARG ©UY

HaR Dl Sl TJT = 10000

2019 H 256 HATTH HAGRM F IAoRG 3R 128 FEUTT SR I IS BT SJATd o7 72
Options :

1. % 56

2. % 11:13

3. % 9.7

4.+ 8.7

Question Number : 120 Question Id : 7773932622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the graph carefully to answer the given question.



Number of persons watching tv channelin six different
colonies

B Star B /7ee M both

1200 1200
1150

A B C D E F
In Colony B, the number of people watching both channels is what percentage less than the number of people watching ZEE in Colony E?
Options :
1. #® 7.14 percent
2. % 11.11 percent
3. ¥ 12.5 percent
4. ® 555 percent

Question Number : 120 Question Id : 7773932622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T Y HT IR < & 1o7T A6 &1 eFYde S{eqd- Hifor|



B HAI-eT hid il # S Jaa Sua ara

gfehdl hr g
"R " UEe
1200 1200
1100 1100 g
1000 _— 000
850
200 800 a00
700 700 0 700
IEGD I 600 I I I
= ANN HE= HES HER HRN
Fil B C D E F
HiaH B H, SF 990 <& aTall &t W&, Hiat E H Sff (ZEE) S8 aTall &1 e § fa-n ufawd &4 82
Options :
1. % 7.14 gfd=d
2. % 11.11 Ufd=rd
3. ¥ 12.5 Ufd=rd
4. % 555 Yfd=rd
General English1
Group Number : 7
Group Id : 77739336
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English1

Section Id : 777393109
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393128
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7773932623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Besides the doctor who was busy to collect the equipment, there was a man in a suit standing by the door.
Options :

1. ¥ Besides the doctor who was busy to collect

2. * the equipment, there was a man in

3. % asuit standing by the door.

4. * No Error

Question Number : 121 Question Id : 7773932623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.



Besides the doctor who was busy to collect the equipment, there was a man in a suit standing by the door.
Options :

1. ¥ Besides the doctor who was busy to collect

2. # the equipment, there was a man in

3. # a suit standing by the door.

4. % No Error

Question Number : 122 Question Id : 7773932624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

The people that have hidden their black money must get the most severe punishment.
Options :

1. ¥ The people that have hidden their

2. # black money must get

3. # the most severe punishment.

4. # No Error

Question Number : 122 Question Id : 7773932624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

The people that have hidden their black money must get the most severe punishment.
Options :

1. ¥ The people that have hidden their

2. % black money must get

3. # the most severe punishment.

4. % No Error



Question Number : 123 Question Id : 7773932625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

If the recruitment plan is not well-structured, it may fail attract potential employees from a pool of candidates.
Options :

1. # If the recruitment plan is not well-structured,

2. ¥ it may fail attract potential employees

3. % from a pool of candidates.

4. % No Error

Question Number : 123 Question Id : 7773932625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

If the recruitment plan is not well-structured, it may fail attract potential employees from a pool of candidates.
Options :

1. # If the recruitment plan is not well-structured,

2. ¥ it may fail attract potential employees

3. ® from a pool of candidates.

4. ¥ No Error

Question Number : 124 Question Id : 7773932626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # Indian crafts of the eighteenth and the nineteenth centuries have certain resemblances to European folk crafts of earlier periods.



2. # The paintings of some twentieth-century European artists prefigured certain stylistic developments.
3. % After the movement of large numbers of Indians to cities, the Indian influences in the work of many painters increased.

4. ¥ The designs of many of the quilts make by Indian women in the nineteenth century reflect designs of European trade goods.

Question Number : 124 Question Id : 7773932626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # Indian crafts of the eighteenth and the nineteenth centuries have certain resemblances to European folk crafts of earlier periods.
2. # The paintings of some twentieth-century European artists prefigured certain stylistic developments.

3. % After the movement of large numbers of Indians to cities, the Indian influences in the work of many painters increased.

4. ¥ The designs of many of the quilts make by Indian women in the nineteenth century reflect designs of European trade goods.

Question Number : 125 Question Id : 7773932627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. ¥ If it had completed, it would have contradict some of the conclusions contained in his earlier book.

2. # If it had completed, it would have amended some of the conclusions contained in his earlier book.

3. # If it had completed, it would have brought up to date the comprehensive history of African-American art begun in his earlier book.

4. % If it had completed, it would have expanded upon the project of his earlier book by broadening the scope of inquiry found in the earlier
book.

Question Number : 125 Question Id : 7773932627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :



1. ¢ If it had completed, it would have contradict some of the conclusions contained in his earlier book.
2. ® If it had completed, it would have amended some of the conclusions contained in his earlier book.
3. % Ifit had completed, it would have brought up to date the comprehensive history of African-American art begun in his earlier book.

4. ® If it had completed, it would have expanded upon the project of his earlier book by broadening the scope of inquiry found in the earlier
book.

Question Number : 126 Question Id : 7773932628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

A table, covered in white cloth and silver spoons were set in front of him.
Options :

1. ¥ was set in front of him

2. # were set front of him

3. # were set front from him

4. ¥ No improvement

Question Number : 126 Question Id : 7773932628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

A table, covered in white cloth and silver spoons were set in front of him.
Options :

1. ¥ was set in front of him

2. % were set front of him

3. % were set front from him

4. # No improvement

Question Number : 127 Question Id : 7773932629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Once the milk has cooled, poured it into glass containers and refrigerate immediately.
Options :

1. # pour them into

2. % pour it into

3. % poured them into

4. ¥ No improvement

Question Number : 127 Question Id : 7773932629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Once the milk has cooled, poured it into glass containers and refrigerate immediately.
Options :

1. #* pour them into

2. % pour it into

3. # poured them into

4. % No improvement

Question Number : 128 Question Id : 7773932630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The film's titles appear on screen as whether they were written with a word processor.
Options :

1. # as they were wrote



2. * as whether it was written
3. % as if they were written

4. ¥ No improvement

Question Number : 128 Question Id : 7773932630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The film's titles appear on screen as whether they were written with a word processor.

Options :

1. # as they were wrote

2. # as whether it was written
3. % as if they were written

4. ¥ No improvement

Question Number : 129 Question Id : 7773932631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The library includes new technology which means children can borrow a book by putting their thumb on to a machine.

Options :

1. # could borrowed a book
2. # can borrowed the book
3. % could borrowed the book

4. ¥ No improvement

Question Number : 129 Question Id : 7773932631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The library includes new technology which means children can borrow a book by putting their thumb on to a machine.

Options :

1. # could borrowed a book
2. % can borrowed the book
3. % could borrowed the book

4. ¥ No improvement

Question Number : 130 Question Id : 7773932632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Add olives to the pan and cook over a moderate heat they begin to wrinkle.
Options :

1. % until

2. % along

3. % around

4. # beneath

Question Number : 130 Question Id : 7773932632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Add olives to the pan and cook over a moderate heat they begin to wrinkle.
Options :

1. ¥ until

2. % along

3. % around

4. # beneath



Question Number : 131 Question Id : 7773932633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The security people let pass with hardly a glance at their documentation.
Options :

1. * it

2. ¥ them

3. * her

4. * him

Question Number : 131 Question Id : 7773932633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The security people let pass with hardly a glance at their documentation.
Options :

1. * it

2. ¥ them

3. * her

4. % him

Question Number : 132 Question Id : 7773932634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I remarked on how strange it was that none of them there at the reunion.
Options :

1. * were



2. % are
3. % was

4. % is

Question Number : 132 Question Id : 7773932634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I remarked on how strange it was that none of them there at the reunion.
Options :

1. ® were

2. % are

3. ¥ was

4. % 18

Question Number : 133 Question Id : 7773932635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

About success and failure, he remarks that he enjoys success and bother much when failure strikes.
Options :

1. ® don’t

2. % wasn’t

3. * weren’t

4. ¥ doesn’t

Question Number : 133 Question Id : 7773932635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



About success and failure, he remarks that he enjoys success and bother much when failure strikes.
Options :

1. # don’t

2. ® wasn’t

3. % weren’t

4. ¥ doesn’t

Question Number : 134 Question Id : 7773932636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. By extending the nationwide lockdown for

B. of wavering on its aggressive

C. another 19 days, government has shown no sign
D. response to the coronavirus threat

Options :

1. ¥ ACBD
2. % ACDB
3. % ABCD
4. % ADBC

Question Number : 134 Question Id : 7773932636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. By extending the nationwide lockdown for

B. of wavering on its aggressive

C. another 19 days, government has shown no sign
D. response to the coronavirus threat

Options :
1. ¥ ACBD
2. % ACDB



3. ¥ ABCD
4. % ADBC

Question Number : 135 Question Id : 7773932637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. the world leaders have been faced with

B. With no cure or vaccine in sight in the foreseeable future

C. an unenviable task of securing the lives of their citizens

D. and hardly any consensus on the approach to contain the COVID-19 pandemic,

Options :

1. ¥ BADC
2. ¥ BDAC
3. % BCAD
4. % BDCA

Question Number : 135 Question Id : 7773932637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. the world leaders have been faced with

B. With no cure or vaccine in sight in the foreseeable future

C. an unenviable task of securing the lives of their citizens

D. and hardly any consensus on the approach to contain the COVID-19 pandemic,

Options :

1. ¥ BADC
2. ¥ BDAC
3. % BCAD
4. % BDCA

Question Number : 136 Question Id : 7773932638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. It reveals our structures of division and our levels of social trust.
B. But it has visibly unequal effects on them.

C. The virus exploits our bodily and social vulnerabilities.

D. A pandemic literally means a disease that stalks all people.

Options :

1. * DABC
2. % DCBA
3. ¥ DBCA
4. % DBAC

Question Number : 136 Question Id : 7773932638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. It reveals our structures of division and our levels of social trust.
B. But it has visibly unequal effects on them.

C. The virus exploits our bodily and social vulnerabilities.

D. A pandemic literally means a disease that stalks all people.

Options :

1. * DABC
2. % DCBA
3. ¥ DBCA
4. % DBAC

Question Number : 137 Question Id : 7773932639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Why should a picture of snowy mountains be occasion for wonder?



B. The reason is that the photograph was taken from a house in Jalandhar, a hot and dusty city of the plains which is not normally associated with
Scenic SNow views.

C. A photo showing a range of snow peaks is doing the rounds on social media.

D. It helps to mitigate with a sense of wonder the coronavirus-induced pall of gloom surrounding everything.

Options :

1. ¥ CABD
2. % CBDA
3. % CDBA
4. ¥ CDAB

Question Number : 137 Question Id : 7773932639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Why should a picture of snowy mountains be occasion for wonder?

B. The reason is that the photograph was taken from a house in Jalandhar, a hot and dusty city of the plains which is not normally associated with
scenic snow views.

C. A photo showing a range of snow peaks is doing the rounds on social media.

D. It helps to mitigate with a sense of wonder the coronavirus-induced pall of gloom surrounding everything.

Options :

1. ¥ CABD
2. % CBDA
3. ¥ CDBA
4. ¥ CDAB

Question Number : 138 Question Id : 7773932640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Amend
Options :
1. ¥ Change



2. % Align
3. ® Weaken
4. # Rectify

Question Number : 138 Question Id : 7773932640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Amend
Options :

1. ¥ Change
2. % Align
3. % Weaken
4. % Rectify

Question Number : 139 Question Id : 7773932641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Revamp
Options :

1. % Revert

2. ¥ Renovate
3. % Recognize

4, % Reunion

Question Number : 139 Question Id : 7773932641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.



Revamp
Options :

1. % Revert

2. ¥ Renovate
3. % Recognize

4, % Reunion

Question Number : 140 Question Id : 7773932642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Palpitate
Options :
1. # Eradicate
2. # Collapse
3. % Tremble
4. # Fragment

Question Number : 140 Question Id : 7773932642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Palpitate
Options :
1. * Eradicate
2. # Collapse
3. ¥ Tremble
4. ¥ Fragment



General English2

Group Number : 8

Group Id : 77739337

Group Maximum Duration : 0

Group Minimum Duration : 0
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Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Question Number : 141 Question Id : 7773932643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Spurious
Options :
1. * Fabricated



2. ®* Vibrant
3. # Freezing
4. % Authentic

Question Number : 141 Question Id : 7773932643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Spurious
Options :

1. # Fabricated
2. # Vibrant

3. # Freezing
4. ¥ Authentic

Question Number : 142 Question Id : 7773932644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Bulldoze
Options :

1. ¥ Construct
2. # Flatten
3. ¥ Demolish

4. % Intimidate

Question Number : 142 Question Id : 7773932644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.



Bulldoze
Options :

1. ¥ Construct
2. # Flatten
3. ¥ Demolish

4. % Intimidate

Question Number : 143 Question Id : 7773932645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Recovery

2. ¥ Imaginery

3. ¥ Imbalance

4. % Alcoholic

Question Number : 143 Question Id : 7773932645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Recovery

2. ¥ Imaginery

3. % Imbalance

4. # Alcoholic

Question Number : 144 Question Id : 7773932646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :



1. #* Dismantle
2. ®* Reflective
3. % Osciillate

4. ¥ Categorize

Question Number : 144 Question Id : 7773932646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Dismantle

2. # Reflective

3. % Osciillate

4. # Categorize

Question Number : 145 Question Id : 7773932647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Duplicitous

2. # Fallacious

3. ¥ Mendacious

4. ¥ Precoecious

Question Number : 145 Question Id : 7773932647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. #* Duplicitous

2. % Fallacious



3. # Mendacious

4. ¥ Precoecious

Question Number : 146 Question Id : 7773932648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Pasturization

2. # Consultation

3. % Subjugation

4. # Rehabilitation

Question Number : 146 Question Id : 7773932648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Pasturization

2. % Consultation

3. % Subjugation

4. ¥ Rehabilitation

Question Number : 147 Question Id : 7773932649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

These threatening letters began showing up in our mailbox out of nowhere.

Options :
1. # Out of curiosity
2. % All of a sudden



3. % In a fixed period
4. ¥ At a suitable place

Question Number : 147 Question Id : 7773932649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

These threatening letters began showing up in our mailbox out of nowhere.

Options :

1. # Out of curiosity
2. % All of a sudden

3. # Ina fixed period
4. % Ata suitable place

Question Number : 148 Question Id : 7773932650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

It was revealed that the FBI had kept a tab on him for years due to his political activities in college.
Options :

1. #® To help willingly

2. # To investigate

3. ¥ To keep track of

4. % To try to control

Question Number : 148 Question Id : 7773932650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

It was revealed that the FBI had kept a tab on him for years due to his political activities in college.



Options :

1. # To help willingly
2. # To investigate

3. ¥ To keep track of
4. # To try to control

Question Number : 149 Question Id : 7773932651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Jason has really turned over a new leaf he hasn't been in the slightest bit of trouble in months.

Options :

1. # To start from the beginning
2. # To discover something

3. % To be forced to apologize

4. ¥ To change one’s behavior

Question Number : 149 Question Id : 7773932651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Jason has really turned over a new leaf he hasn't been in the slightest bit of trouble in months.

Options :

1. # To start from the beginning
2. % To discover something

3. * To be forced to apologize

4. ¥ To change one’s behavior

Question Number : 150 Question Id : 7773932652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Have a face like thunder

Options :

1. ¥ To show one’s anger or hostility
2. # To be nervous

3. # To be extremely attractive

4. ® To be scared

Question Number : 150 Question Id : 7773932652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Have a face like thunder

Options :

1. ¥ To show one’s anger or hostility
2. % To be nervous

3. # To be extremely attractive

4. # To be scared

Question Number : 151 Question Id : 7773932653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fall on one’s feet

Options :

1. ® To betray someone

2. ¥ To overcome difficulties
3. % To request earnestly

4. ® To gain an advantage



Question Number : 151 Question Id : 7773932653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fall on one’s feet

Options :

1. # To betray someone

2. ¥ To overcome difficulties
3. # To request earnestly

4. # To gain an advantage

Question Number : 152 Question Id : 7773932654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The science or practice of building or flying aircraft.
Options :

1. # Anesthetics

2. % Ballistics

3. % Aeronautics

4. # Hydraulics

Question Number : 152 Question Id : 7773932654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The science or practice of building or flying aircraft.
Options :

1. # Anesthetics

2. # Ballistics



3. ¥ Aeronautics
4. # Hydraulics

Question Number : 153 Question Id : 7773932655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An instrument measuring atmospheric pressure, used especially in forecasting the weather.
Options :

1. # Audiometer

2. # Electrometer

3. # Chronometer

4. % Barometer

Question Number : 153 Question Id : 7773932655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An instrument measuring atmospheric pressure, used especially in forecasting the weather.
Options :

1. % Audiometer

2. # Electrometer

3. # Chronometer

4. % Barometer

Question Number : 154 Question Id : 7773932656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A mass of snow, ice, and rocks falling rapidly down a mountainside.



Options :

1. ¥ Avalanche
2. # Decalogue
3. % Cadaver

4. # Estuary

Question Number : 154 Question Id : 7773932656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A mass of snow, ice, and rocks falling rapidly down a mountainside.
Options :

1. ¥ Avalanche

2. % Decalogue

3. % Cadaver

4. # Estuary

Question Number : 155 Question Id : 7773932657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Involving trust, especially with regard to the relationship between a trustee and a beneficiary.
Options :

1. #* Iconography

2. % Fiduciary

3. # Obligatory

4. % Sedimentary

Question Number : 155 Question Id : 7773932657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word which means the same as the group of words given.

Involving trust, especially with regard to the relationship between a trustee and a beneficiary.
Options :

1. * Iconography

2. ¥ Fiduciary

3. % Obligatory

4. # Sedimentary

Sub-Section Number : 2
Sub-Section Id : 777393130
Question Shuffling Allowed : Yes

Question Id : 7773932658 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

In Constantinople, more Christians were slaughtered by Christians in the years 342-343 than by all the persecutions by pagans in the history of
Rome. Constantinople was the capital city of the Roman Empire (330-395), of the Eastern Roman (Byzantine) Empire (395-1204 and 1261
1453), of the brief Crusader state known as the Latin Empire (1204-1261) and of the Ottoman Empire (1453—1923). With the establishment of
the Turkish Republic, in 1923 the capital of Turkey was moved to Ankara and the original Roman Empire name Constantinople was officially
changed to the Turkish name Istanbul. The city is still referred to as Constantinople in Greek-speaking sources.

From the mid-5th century to the early 13th century, Constantinople was the largest and wealthiest city in Europe. The city became famous for its
architectural masterpieces, such as Hagia Sophia, the cathedral of the Eastern Orthodox Church, which served as the seat of the Ecumenical
Patriarchate, the sacred Imperial Palace where the Emperors lived, the Galata Tower, the Hippodrome, the Golden Gate of the Land Walls, and
the opulent aristocratic palaces lining the arcaded avenues and squares. The University of Constantinople was founded in the fifth century and
contained numerous artistic and literary treasures before it was sacked in 1204 and 1453.

Constantinople was famed for its massive and complex defences. The first wall of the city was erected by Constantine I, and surrounded the city
on both land and sea fronts. The city was built intentionally to rival Rome, and it was claimed that several elevations within its walls matched the
'seven hills' of Rome. Because it was located between the Golden Horn and the Sea of Marmara the land area that needed defensive walls was
reduced, and this helped it to present an impregnable fortress enclosing magnificent palaces, domes, and towers, the result of the prosperity it
achieved from being the gateway between two continents (Europe and Asia) and two seas (the Mediterranean and the Black Sea).

Sub questions

Question Number : 156 Question Id : 7773932659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The city Constantinople was built intentionally to its rival. Who was its rival?
Options :

1. # Egypt

2. % Rome

3. % Byzantine

4. # Istanbul

Question Number : 157 Question Id : 7773932660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Hagia Sophia according to the passage?
Options :

1. # university of Rome

2. # imperial palace

3. % eastern orthodox church

4. ¥ architectural masterpiece

Question Number : 158 Question Id : 7773932661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Constantinople was the largest and wealthiest city in Europe between:
Options :

1. # 13th to 28th century

2. % 3rd to 15th century

3. % 5th to 13th century

4. % 8th to 28th century

Question Number : 159 Question Id : 7773932662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Today, Constantinople is known as:



Options :

1. % Turkey

2. # Ankara

3. ¢ Istanbul
4. # Azerbaijan

Question Number : 160 Question Id : 7773932663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Constantinople was the capital of:

(a) Latin Empire (b) Ottoman Empire (c¢) Byzantine Empire
Options :

1. # Only (a)

2. % Only (b)

3. % Both (a) and (b)

4. % All (a), (b) and (c)

Question Id : 7773932658 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage carefully and select the best answer to each question out of the given four alternatives.

In Constantinople, more Christians were slaughtered by Christians in the years 342-343 than by all the persecutions by pagans in the history of
Rome. Constantinople was the capital city of the Roman Empire (330-395), of the Eastern Roman (Byzantine) Empire (395-1204 and 1261
1453), of the brief Crusader state known as the Latin Empire (1204-1261) and of the Ottoman Empire (1453—1923). With the establishment of
the Turkish Republic, in 1923 the capital of Turkey was moved to Ankara and the original Roman Empire name Constantinople was officially
changed to the Turkish name Istanbul. The city is still referred to as Constantinople in Greek-speaking sources.

From the mid-5th century to the early 13th century, Constantinople was the largest and wealthiest city in Europe. The city became famous for its
architectural masterpieces, such as Hagia Sophia, the cathedral of the Eastern Orthodox Church, which served as the seat of the Ecumenical
Patriarchate, the sacred Imperial Palace where the Emperors lived, the Galata Tower, the Hippodrome, the Golden Gate of the Land Walls, and
the opulent aristocratic palaces lining the arcaded avenues and squares. The University of Constantinople was founded in the fifth century and
contained numerous artistic and literary treasures before it was sacked in 1204 and 1453.

Constantinople was famed for its massive and complex defences. The first wall of the city was erected by Constantine I, and surrounded the city



on both land and sea fronts. The city was built intentionally to rival Rome, and it was claimed that several elevations within its walls matched the
'seven hills' of Rome. Because it was located between the Golden Horn and the Sea of Marmara the land area that needed defensive walls was
reduced, and this helped it to present an impregnable fortress enclosing magnificent palaces, domes, and towers, the result of the prosperity it
achieved from being the gateway between two continents (Europe and Asia) and two seas (the Mediterranean and the Black Sea).

Sub questions

Question Number : 156 Question Id : 7773932659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The city Constantinople was built intentionally to its rival. Who was its rival?
Options :

1. # Egypt

2. % Rome

3. ¥ Byzantine

4. % [stanbul

Question Number : 157 Question Id : 7773932660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Hagia Sophia according to the passage?
Options :

1. # university of Rome

2. % imperial palace

3. % castern orthodox church

4. % architectural masterpiece

Question Number : 158 Question Id : 7773932661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Constantinople was the largest and wealthiest city in Europe between :
Options :

1. # 13th to 28th century

2. % 3rd to 15th century



3. % 5th to 13th century
4. % 8th to 28th century

Question Number : 159 Question Id : 7773932662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Today, Constantinople is known as :
Options :

1. # Turkey

2. % Ankara

3. ¢ Istanbul

4. ¥ Azerbaijan

Question Number : 160 Question Id : 7773932663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Constantinople was the capital of:

(a) Latin Empire (b) Ottoman Empire (c) Byzantine Empire
Options :

1. % Only (a)

2. % Only (b)

3. % Both (a) and (b)

4. ¥ All (a), (b) and (¢)
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Question Number : 161 Question Id : 7773932664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafEd & 9 frd wee A S T 781 &7
Options :

1. % qdl

2. % ATl

3. Al

4. % JAdel

Question Number : 161 Question Id : 7773932664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafea & T fog weg A 3 Tg A8 82




Options :

1. % dal

2. % [T
3. ¢ T
4. % 3{cqdl

Question Number : 162 Question Id : 7773932665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFEfaRad ¥ O dagd e &1 g Difole-
Options :

1. #® DI

2. ¢ 3Rdl

3. % Y

4. % 3R

Question Number : 162 Question Id : 7773932665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAAfRad & ¥ dagd Wsg &1 99 I
Options :

1. % TPpla

2. ¥ Rl

3. % 3N

4. % 3R

Question Number : 163 Question Id : 7773932666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"TTEaS Uerar Rl 7 3 oH-91 Ise 82

Options :



1. % BRY!
2. ®
3. % fag=h
4. ¢ SRS

Question Number : 163 Question Id : 7773932666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teee dierer Efied 3 § SH-91 Xea 89
Options :

1. % BRE!

2. % g

3. % fagxt

4. ¥ G

Question Number : 164 Question Id : 7773932667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SET Teg | AR # 3 SH-91 99 g2
Options :

1. % g aamg

2. % Gg gAY

3. ¥ A=Y JHNY

4. % 3fogdIHTd FHTY

Question Number : 164 Question Id : 7773932667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"STETc Tea | R § 3 S1H-91 96 52
Options :

1. % fg 9ury



2. % gg Uy
3. ¢ dgEY 999
4. % YHIG gAY

Question Number : 165 Question Id : 7773932668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

nIper fAAfalRad 7 3 feg usR ! fbar #7182
Options :

1. ¢ 3t fobar

2. % gHtid b

3. % fgopHb fopar

4. % g T

Question Number : 165 Question Id : 7773932668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3feper FEfIfEd 8§ 3§ f5a ueR o) fhar a1 82
Options :

1. ¢ 3(hHD foba

2. % GHHSD foha

3. % fgaptias fopa

4. % Tgod febar

Question Number : 166 Question Id : 7773932669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfRad o O "Iooaa” Teg § HH-d i 32
Options :

1. % Y

2. % TG




3. % gur gy
4.« oA Y

Question Number : 166 Question Id : 7773932669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrfaRad o ¥ "Iooaa W6 § ST W 82

Options :

Question Number : 167 Question Id : 7773932670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y & BT IaRU R FEfIRad 3§ 9 Far g?
Options :

1. % ¢d

2. qH

3. % TSy

4. % HOR dIeTd

Question Number : 167 Question Id : 7773932670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W @G P IR RIF FHEfiRad § S w182
Options :

1. % dd

2. ¢ g

3. % GAISeY



4. % HER A

Question Number : 168 Question Id : 7773932671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear man gt FREfafad 2 3 feg fparfaRi sy &1 9 82

3D I TIY T 7|
Options :

1. % O fopanfavivor sreqg
2. % RHY fharfaRIvo s/aqg
3. % 3RYHY fharfarivor sfeoy
4. ¢ Td fepanfa=ivur 3oy

Question Number : 168 Question Id : 7773932671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear mar gt fREfiafad B 59 fearfaRivor seqg &1 9 32

3P T iy 3T T
Options :

1. % e foranfaRivor sreqg
2. % RYTY fhanfaRivor sfeog
3. % YT fharfarivor sfeog
4. ¥ Td fepaTfa—Ivur ey

Question Number : 169 Question Id : 7773932672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR o ¥ e i1t aTel R6G T I BITor-

Options :

1. ¢ SofgR




2. % ad
3. % yfaedid)
4. % fesufdell

Question Number : 169 Question Id : 7773932672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 9T aTd Xeg BT 99 HIfoTE-
Options :

1. ¢ SONGR

2. % dhgd

3. % gfaaidt

4. % fufdbat

Question Number : 170 Question Id : 7773932673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o @ fou 710 wreg-gm & wet 81 o1 g HIfTL-
fTiRET - R

Options :

1. % ey - RRrg
2. % feuTay - Ig®
3.« 319 - fgrre™

4. % <Igdh - TR

Question Number : 170 Question Id : 7773932673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferad & O fau 7T Wreg-gm & 98 ord-2g &1 99 Hifore-
fifesr - =



Options :

1. % ey - RRrg
2. % feuTay - Ig®
3. ¢ 139 - fgarey

4. % <Igdh - TR

Question Number : 171 Question Id : 7773932674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 S &1 oy e $H-91 82
Options :

1. % (oeH

2. ¢ fdie

3. % 3

4. % 3gHTH

Question Number : 171 Question Id : 7773932674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 9 3 &1 fady WTeg $H-91 52
Options :

1. ® feem

2. ¢ (e

3. % 3

4, % 3fIHT

Question Number : 172 Question Id : 7773932675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 TR T Teg "Fig" T 31 "TRR" BT 8, I UBR A Teg, "ge-" T 34 gl

Options :




1. ¥ Q@
2. #% QRHR
3. % g

4. % @Y

Question Number : 172 Question Id : 7773932675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 THR Q T "gg" 1 31 "TRRY A1 8, I UPR J g g B 31 gargl
Options :

1. ¥ 9

2. % QUIHR

3. % qIg

4. % Y

Question Number : 173 Question Id : 7773932676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAE=faRad O 9 fau e arqa o o T 2reg &1 99+ Hifore-
o= foeht fawg & | & feran gt

Options :

|. % qrdrGierd
2. % IGNH

3. ¢ gted

4. % fafdad

Question Number : 173 Question Id : 7773932676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefaRad & 9 foT U a1 & ol T Wieg, &1 994 Sifore-



o/ ot fowa & 79 @ fer &t
Options :

|. % qrdrGierd

2. % IaNH

3. ¢ gfad

4. % fafeaq

Question Number : 174 Question Id : 7773932677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 rpar 1 waiar Wea HH-91 87
Options :

1. % R

2. ¢ TR

3. % Ium

4. % BUTe

Question Number : 174 Question Id : 7773932677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrefed 3 e o1 qaiaar e B9 22
Options :

1. % FoR

2. ¢ T

3. % AU

4. % &Ulal

Question Number : 175 Question Id : 7773932678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAEfRed o @ S aci-l aTel Xea b1 IT BifoTT-
Options :

1. ¥ AT

2. % CoiifaeH

3. % Pipraesl

4. % yHHIA

Question Number : 175 Question Id : 7773932678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3RS adH aTel Ueg o1 T BHIfor-
Options :

1. & AT

2. % CoiifdeH

3. % fdreres

4. % yild

Question Number : 176 Question Id : 7773932679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o R fdlt o= &1 $© B R 781 o fore FAm=feiad o ¥ U Weg &1 99+ Pifore-
Options :

1. % el

2. % FABNYBRI

3. ¢ THIYBR

4. % 3ffUBRI

Question Number : 176 Question Id : 7773932679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o R fodlt 30 &1 $© SHABR 7 81 & fore Ffeied o @ T Wsg &1 994 HifoTe-



Options :

1. % JRar

2. % APBNYBRI
3. ¢ THIYBR
4. % IYBRI

Question Number : 177 Question Id : 7773932680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffIRed o @ HH-91 a1 HH SRS &1 3aTeR0l ol 87
Options :

1. % Of 5= &I a1 @ g |

2. % W 9 QU DI AR

3. % W[ YT ! AT

4. 9% Tig WA 7

Question Number : 177 Question Id : 7773932680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ HI-1 9109 BH PR BT ISTER0T T8t 82
Options :

1. % T §=d &I AT %! 3

2. % W (U] I AR

3. % W[ YT ! T

4. ¢ S Tq H WA G B

Question Number : 178 Question Id : 7773932681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffIRId O § DH-91 a1 3 YddbTd &1 g2

Options :




1. % gfaar deit Ts g |

2. % Fiarga el A

3. ¢ AR UGTHR 3775 3 |

4. % e B HgAd Hdl, dl hd gl SIrdT|

Question Number : 178 Question Id : 7773932681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR & & -1 a1 31T cTehTel 1 87
Options :

1. % gfadr e 75 gl

2. % Hrarga @

3. ¢ JeTUHT UGTHR 3MTS B |

4. % e AhY HE-Id HRdl, df Ihd gl ST |

Question Number : 179 Question Id : 7773932682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAE=faRad O 9§ wifeiT Wsg &1 o HifoTe-
Options :

1. ¢ U

2. & TRAT

3. % ¢q

4. % Ufgan

Question Number : 179 Question Id : 7773932682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefead # 9 wifelT Tree &1 99 HifeTe-
Options :

1. « foxdd



2. ® AT
3. % Yq

4. % qfgar

Question Number : 180 Question Id : 7773932683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed O ¥ fy fawen T weom gy 4= &1 UanT fovar a1 82
Options :

1. % T od YIgTd S|

2. G 3TT FHET B 82

3. % 3 9 1 TgT AR 137 |

4. % T WP ST UG g

Question Number : 180 Question Id : 7773932683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad 7§ foy faswey 7 Herd qoy 9d-m o1 gt forar mar g2
Options :

1. % T &Hd U S|

2. ¥ SIS MY Bl B 87

3. % 3t BT TgT ABR 31|

4. % T WHd oTH UG g
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Question Number : 181 Question Id : 7773932684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad § § oH-91 faswed Thdar-agaa &1 9e! Ad 81 82

Options :
1. % ORPT - UABTE
2. % BT - HIY

3. ¢ Hfgal - Agiansf
4. ® FTUTT - ¥

Question Number : 181 Question Id : 7773932684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=R o @ ®H-91 fdwed Twhad--agad- &1 Ug! 0d el 62
Options :

1. % OADT - T

2. ® ST - BN

3. ¢ Higal - Helarsh

4. % U1 - T4

Question Number : 182 Question Id : 7773932685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEffed O T - fau 7T are &1 Sgad are &1 g
gfe Yo=ic o cradT dl el fird S|

Options :

1. % JHde = a9 GlsdR el Udhal|

2. % gie Y ol HITdT o et fid St
3. % YHEe O aredx HI el 9 Ushs a1
4. ¢ UHdC o9 gladT dl et fird STl |

Question Number : 182 Question Id : 7773932685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefeiRea O 9 e fau U ar1e &1 Agad are o1 g2
gfe V=i o credT d el i S|

Options :

1. # Jde A a9 ISR el Udhal|

2. % i YA ool HITdT df e (e STt
3. % YHde a9 aredR Y Sl 9 ushs I
4.« YA O Slsdr dl et iy St




Question Number : 183 Question Id : 7773932686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR ¥ O 9199 & TSR &1 I99 BHIToTe-
fgdl gHRY AFHTIT B |

Options :

1. % JARAIHID didd
2. % Hhdardg® ared
3. ¢ fafdars ar
4. % YA

Question Number : 183 Question Id : 7773932686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEferRad & U 91 & UBR o1 99 DIfoTT-
el SR AFHTIT B |

Options :

1. % 3ITdTIdh dTeRd
2. % Jopdarde aied
3. ¢ faf¥arae are
4. % fHyarEg

Question Number : 184 Question Id : 7773932687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRad # A o & UbR 1 TG BifviL-
g4 g D1 el R Hebd |

Options :

1. ¢ Hqared




2. % HUATH
3. % Y[adry
4. % fopgrara

Question Number : 184 Question Id : 7773932687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFAEfRId § 9 9= & UHR B I99 BHIToTe-
T Sa B Tg1 HR Fahd |

Options :

1. ¥ Hqgard
2. % HHAA
3. % Ygarg
4. % fograrA

Question Number : 185 Question Id : 7773932688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fm=feRad & T 1[G ad arel a7 &1 Ia- HIfoTe-
Options :

1. % 30 o8 TTe 81, 98 oot WY smar Tl

2. ¥ T S{ORTY T SHITCTT I ol g& |

3. % 99 diH dTdl Afad I DIs Aol S Febdl|

4. % e Ay TS SR A ST 81 Whl g

Question Number : 185 Question Id : 7773932688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfeRad & ¥ 3R adi! aTdl aTed HT a9 Pifore-

Options :




1. % 370 oY 1T 81, 98 bt it 317 T

2. ¥ T 3{ORTY T THITCTT IV ol g& |

3. % T I 9T AGd Dl Bls Tl S bl
4. % g FrayT T8 st dY ST 8l b1 g

Question Number : 186 Question Id : 7773932689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TbiTad "3 1Y 7 Uies TR ST fAefaRad & 3 &1 37 g2
Options :

1. % 90 98! 81 ) YRT IR 31 A g |

2. % eI Y g

3. ¢ @I Wt e T 8

4. % T[0T g R Y 7701 T faarar =T

Question Number : 186 Question Id : 7773932689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ArpITad "3 AT 7 Uiey el &1 (w=feraa o & o 31 g2
Options :

1. % 99 TE 81 o IRT IR 31 AT 3

2. % eI 1Y g

3. ¢ DI it eI A g

4. % T[0T g9 R Y 7701 T faarar =

Question Number : 187 Question Id : 7773932690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfRad & @ fora Aeifaa/gera] o1 s »srivg fad &1 arg dfad ol - &1 T-Id BT Bial 67
Options :

1. ® IR foce @™ A=




2. % Ueb WM H 1 AefaR 81 7§ Febell
3. % HPh-Ph B DHGH G
4. ¥ DI I g9 BI A1

Question Number : 187 Question Id : 7773932690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed # 9 fog deifaa/geTay o1 o s fad o1 9 dfad ST a9 &1 Uad SAT" 81T /2
Options :

1. % faRam foed wwT A

2. % Teh WM H &l IAdR 81 3§ Hebel

3. % Boh-Thh B hGH W]

4. D11 I g9 B A1

Question Number : 188 Question Id : 7773932691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoiRad & @ geTerT "aaad Bt WETS ST &1 T 31 g2
Options :

1. % e HuS

2. % §¥ 3fTad I Blel

3. ¢ AW & UAHd B HAT

4. % X G

Question Number : 188 Question Id : 7773932691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferRad & T GererT "Saad &t UGS o1 &I T 3 g9
Options :

1. % e A Us

2. % §3 3f1gd A BISl




3. ¢ AW & UAHd B HAT
4, % QI G

Question Number : 189 Question Id : 7773932692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafad 3 I Aeifaa/grerT "BR1 Wd He@ardl &1 3 3 g7
Options :

1. % U9 I9d: JrE 3T a1 8

2. g B

3. % gOL.ASS H ST 1

4. % Y Y gHTC <ol

Question Number : 189 Question Id : 7773932692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafad & I Ao/ dgTerT "BRT Wd He@raral” & 3 3 g7
Options :

1. % U0 Td: GE 31 ST 6

2. ¥ gl DH

3. % gO-AeTe o IST

4. % Y I8 gl <ol

Question Number : 190 Question Id : 7773932693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFefefad & 9 diepife o1 aul o PN gEm" &1 1 31 g2
Options :

1. ¢ IR b o b d1¢ IR Y dhR

2. % g¥ (U g¥dl 5l sledl

3. % §gd B3+ gy HT AIST AT




4. % THH $O 3R I TS 3IR

Question Number : 190 Question Id : 7773932693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafad § O Aieifad o1 aul Je Y gam &1 a1 31 g2
Options :

1. ¢ 3R b OH b §1¢ IR 1Y ShR

2. % ¥ (U g¥Al el BlSdl

3. % qgd Pic URYH BT UreT ary

4. % TH TS 3R IAT TS 3R

Question Number : 191 Question Id : 7773932694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI "SR, SIRE, STHI SR B, T8 al 3R P o7 fAmfoiad & § o 3 g2
Options :

1. % ¢ 3R Tl TAGH 307 I J U HR Jball &

2. ¢ Y, T 3R S 99 30 96§ U R bl 5, fea safad gt
3. % Y, Tt 3R SHIA e 3 90 Q U R IobdT 8, SAd Afdd et
4. % W9 qb A SNfId § a9 db SAT=N &+ Xgell 3|

Question Number : 191 Question Id : 7773932694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ADIad "SR, SIRE, STHIF SIR &1, 781 al 3R P &1 fAmfoiad o 3 o 31 g2
Options :

1. % ¢ 3R Tl TAGH 307 I J U HR el &

2. ¢ Y, Tl 3R SHI Iod 304 g A U BhR JobdT g, el safa et
3. % ¢, T 3R SHIH Fed 309 9 ¥ Ut B Jobdl §, SAd Afad el

4. % 9§ d% A Siifad & a9 dob ST §1 I g |




Question Number : 192 Question Id : 7773932695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad & @ fhg qera’ &1 o ffRmh e gt g2
Options :

1. % ofief} foreeft g

2. ® YT el

3. % Ug &I W | Wi

4.« 3GQferdr gl

Question Number : 192 Question Id : 7773932695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefefed & § frg gera’ o1 ol R femt e diarge
Options :

1. % i foreett g1

2. % Y3T el

3. % Yg ol 9d § Higar

4.« 3cQferdr g

Question Number : 193 Question Id : 7773932696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e § @ B fowages e g 2
Options :

1. % A

2.% S

3. e e

4.



Question Number : 193 Question Id : 7773932696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed # @ oF-91 fowrogms fog g 2
Options :

. %A

2. %S

3‘ u 6 9

4. %

Question Number : 194 Question Id : 7773932697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh il Xeq-faRIY 31T UG-faRIy o1 aToRiwl-fa=iy 1 Xdifchd B & forq FwferRad & 9 oo forg o1 viT foban S
Options :

1. ¥ I g

2. % orUd g

3. % fqERUI g

4. % fqariesiys g

Question Number : 194 Question Id : 7773932697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for et Tre-fa=IY 3ryaT UG-fa=Iy a1 arerIixI-fa=iy 1 Y@iferd S & forg FefeiiRad & 9 food formg o1y fobar sem?
Options :

1. ¥ IR0 g

2. % oUd g

3. % faERu g

4, % fowarideiys g

Question Number : 195 Question Id : 7773932698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fefeRad 7 9 forg faweu & favm gl o1 gt v v mam g2
Options :

1. % TdI 3 TR SIHR- T84T, HUS 9T 3R, b TR & TS o1 |
2. % Y 3 TR SR g1 HUS T 3R fh, TR &1 TS 31|

3. % T[T 3 TR SThR- T811, HUS Y 3R b TR Pt IBTs B!

4. ¢ YdTU = TR SR 8T, HUS T 3R fh TR &1 TS Hi |

Question Number : 195 Question Id : 7773932698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed § @ fy faewen & form =gl &1 9y fosar man g2
Options :

1. % JdI = TR ShR- 71T, HUS YT 3R, fh TR B qTs |
2. % YA 3 TR SHR: T8HT HUS T 3R fhe, TR b1 IHTE Bl

3. % YA 4 TR THR- T8, HUS Y 3R fh eR &t TS BN

4. ¢ TdTT 3 TR SR 71T, HUS €T 3R b TR &t TS 1|

Sub-Section Number : 2
Sub-Section Id : 777393133
Question Shuffling Allowed : Yes

Question Id : 7773932699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frfoRad T &1 eaTgde S1eH R Ul & IR SifvTL-

et oft &1 Afear s i ST &, SR BT 3 S H ?ﬁ?f e &1 A g1 3R I8 Had Rars &t g1 91d 8! o; 4 HFl?r%
& STerT-SerT Afeal B | S oI qug giaT 3, 3T Fa! S Yud WH A A 71 fhq, WRa 311et o SR 9 oR @l

3T WH d YT, d JUTE a1 9 7 §, Fo IR T 9 31fids HINTE U4 gidl o |

A o fridT a8 2 b 3 Sueft eRTait 7 3fieh WTUe] T URY, 3M® SUG! & 3 3R Jeaird o Taichl § SR I7h1 URER e e
JRAd § T UhR & 3 Td JHT, HTa 3R faaR, SR SR AHIE GHIfed Bt & | 31a: STat {1 fier gian 8, 981 arad | fafird




SHUG! & ged gl fIed §, S HTal 1R faari &1 gt firad gidl § T fiddrefi § ot g8 Tohdl 981 $o S T 8l Sodi g | SHEP I
TSI & T 3T Jad g ard § 3R 37 el & off 1t YRR &1 ¥ | Rl §, 98 YR Uehdl &1 Jad g1 Ryurg! 3R Id AT

ST g |

FHRT HIWTY Fore=t g1 drolt I SR, AR fafte we=il o1 UReURe - I 51 Sgdl ST YR, fb d daa ot g1 HisT & Ul g
9 3E S, Sfews URA Bt 3= HTwraft § off I A Ug 3R I Hiadi Bt =i g1 U & SIFRUN 67 3RY BId 81 Th UHR Bl
3RYd WY e 3MTY-J-3T0 Yebe Bl TR & | 3116 Yedeh HINT b HicR g S 1 351 30 81 713 © b R 1 317 HIWIST H R g1
TET 8, ST DH-BH I T TWF &, aUT HIH-I [oaRYRT a8 Y Ui &2 &l ]

Sub questions

Question Number : 196 Question Id : 7773932700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoad & @ Suded e & Ifia 2 o1 9uF i
Options :

1. % A R GRS

2. % YNTC-Jug WTH

3. ¢ HIN-HTTH : Uhdl BT |

4, % il B faredr

Question Number : 197 Question Id : 7773932701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS T & T Weg “TRH BT Giaare) Wee, FAEfIRad #  HH-9182
Options :

1. % foRIemyReY

2. ¥ Hgh

3. % gfdud

4. % WY

Question Number : 198 Question Id : 7773932702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & TR FEAfIRId & § fhd YR UdhdT &1 vy ST RaTg! SR Id 7T Sl 82




Options :

1. % YT13{f & T T TdT 8! A aTel HGTIdsh ol

2. % 3{CI-S{ET A H HH B dTel G ol

3. % orgl o ) Afear s fire el &, 39 I ARy &l |
4.  YTN13{T & T H T T aTel Hsrd i Bl |

Question Number : 199 Question Id : 7773932703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS TR & TR FHRY HToTY forat &t asht & s
Options :

1. % BURI {ORYRT 981 IR Ia-1 81 YT I &Y gl Sav |

2. % AR fafta uee &1 YRR Afeal &1 [a=TdT a1 81 dedl Sa |
3. ¢ gAR Al Ue=n &1 IRERe 19 31 81 dedl SIE|

4. % AR A7 o0l T URTURS 19 31 81 HH sidl SIE|

Question Number : 200 Question Id : 7773932704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRIT TR & SR Al B! fa=a a8 § fos

Options :

1. % 9 3T YIS T 3 SHUG! o 3y fore g g

2. % J 3T YRS T 3 SIS &b I fold Facht & |

3. % 9 U yRISH T 31 SFUGT BT URH T Trereit 6

4. 3 3O YRISH T 3 UG BT YRY, 3 S-UG! o 3 3R I fod =t g

Question Id : 7773932699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No
Question Numbers : (196 to 200)

TR eI ST YD S B Ui & IR iford-
et oft &l Afear S i STl €, 39 T DI 30 S/ H <<ii’ FHg &1 KA ] 1 3R T8 Had Rarel &1 81 91d Tal §; 89 TaHd AFd o




fob SIeTTT-31erT AiGal H H1H B 4 FI1 G §idT 8, I el Hieieh Gug HTH FH H § | fobg, HRd 3111 ford SR U TR @I 8, IqH
3Rt TH 9 R, d GHN qUT d Ha 8, B IR Ue 9 3 oL UhA gl g1

e Bt faiveT a8 § b d oot URIST H o ieh SIUG] T URY, 3 SUG! & 3 3R Iy g =rewd! © SR 7T UREaRe i
JrTd § AT YR & 31 Td FJHT, H1d 3R IR, Sl 3R 2Tl FHifed g § 1 31cl: STgT HIST3fl 1 firei gid 8, da1 arkad  fafte
SHYGl & ged g fed €, 37 U1l 3R faemrt &1 8t firer gran g aur fiaanstt & foth g8 tedr 981 o siftie e 81 Iadt 81 3=
W?%Wa{mﬂa@aé?ﬁﬁ%sﬁ?sﬁﬂﬁﬁsﬁlﬁuﬂﬂaﬁﬂm@raﬁw%ﬂguﬁnmaﬂwﬁa@msﬁvmw
SIGIG

FHRT HTWTY Forerit 81 ol I SR, AR fafte We=il o1 URIUR J- I g1 Sl ST YR, fb d dae ot g1 HisT & URie 81
8 WY, Sfcdh YRA Bt 37 YIS & ot 37 911 Ugd 3R 3! Sl &t 7l g1 | HTITSH & SR BT RY BId 81 TP YHR BT
3R HRIT H 3MMY--3MTY Uehe B A1 & | 31161 Ydh HINT &b HIoR I8 S b1 w01 Il 81 718 © fob HIRA 1 30 WSS & 1 81
TR, 374 PH-BH A U G 8, TUT HH-I1 {FaRYRT IgT UL U B 1 3

Sub questions

Question Number : 196 Question Id : 7773932700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR o ¥ Sufed TRIiRT & 3fod =MNS &7 99+ DIfor-
Options :

1. % At R AR

2. % YNTI-qug TH

3.« YINI-TIH : Uhdl b1 A |

4. % Sfegl &t fawa

Question Number : 197 Question Id : 7773932701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T H U Weg <R BT qafuar ee FHEfif@d & § HH-91 32
Options :

1. % faRremuT

2. ¥ Hgd

3. % gfdud

4, % WY



Question Number : 198 Question Id : 7773932702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T & IR F=faRed A 9 fd yRdTg Towar &1 T 931 Rumgt 3R dd /1 it 82
Options :

1. % YT ob T T IIdT g1 I aTed STt Bl

2. % SCI-STHT Al | HMH B a1 YIS Bl |

3. % g1 i 3 Afear siex e ot €, 39 =i faRy 3|

4. YTYI3{T & T T Ml T aTel Hr i Bl |

Question Number : 199 Question Id : 7773932703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR THRT HTNTY fora=1 &t ooft & St
Options :

1. % AR fOaRYRT 981 IR Il g1 THI o &4 gt S|

2. % BOR AT e &t uRWRS Al o foRivdr Ia-1 8t gga S|
3. ¢ AR Ol Ul &1 IReaRe 1 391 81 dgdl SE|

4. % AR fafYa Il &1 IR 1 31 81 HH gidl SIE|

Question Number : 200 Question Id : 7773932704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T & TR A ) fadiwar ag 8 fb

Options :

| % 3 Su) uRTSH B SRl ST 3 o Ry et €]

2. % J 3TN YRS T 3 UG & Il o1e Faeil ¢ |

3. % 9 U YRISHT T 31 SHUGT b1 YRH forT Frerelt 81

4.+ J 3O YRIST T 3 SFUG] BT URY, 3 SUG] & 3 3R Iear™ ferd Taeh g




